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	 1.	izkphu uxj tks egkHkkjr vkSj egkHkk"; nksuksa esa 
mYysf[kr gSa

	 (1)	fojkVuxj (cSjkB)

	 (2)	eè;fedk (uxjh)

	 (3)	jS<+

	 (4)	ddksZV

	 2.	vfHkys[k] tks izkphu jktLFkku esa Hkkxor lEiznk; ds 
izHkko dh iqf"V djrk gSA

	 (1)	?kfV;kyk vfHkys[k

	 (2)	 gsfy;ksnksjl dk csluxj vfHkys[k

	 (3)	 cqpdyk vfHkys[k

	 (4)	 ?kkslq.Mh vfHkys[k

	 3.	 jktLFkku ds fuEufyf[kr eafnjksa esa ls xqtZj&izfrgkj dky 
esa fufeZr eafnjksa dks pqfu;s%

	 (i)	 vkgM+ dk vkfnojkg eafnj

	 (ii)	vkHkkusjh dk g"kZrekrk dk eafnj

	 (iii)	 jktksjx<+ dk uhydaB eafnj

	 (iv)	vksfl;k¡ dk gfjgj eafnj

	 	owQV%

	 (1)	 (i) vkSj (iv)

	 (2)	 (i), (ii) vkSj (iv)

	 (3)	 (ii) vkSj (iv)

	 (4)	 (i), (ii), (iii) vkSj (iv)

	 4.	 fuEufyf[kr esa ls dkSu lk fo}ku oqQEHkk ds njckj esa 
ugha Fkk\

	 (1)	 fVYyk HkV~V	 (2)	 eqfu lqUnj lwjh

	 (3)	 eqfu ftu fot; lwjh	 (4)	 ukFkk

	 5.	 fuEufyf[kr esa ls jktLFkku ds fdl {ks=k ls vyhc{kh 
[;ky lEc¼ gS\

	 (1)	 djkSyh	 (2)	 fpM+kok

	 (3)	 vyoj	 (4)	 fpÙkkSM+

	 6.	 jktLFkku dk 'kadfj;k u`R; fdlls lacafèkr gS\

	 (1)	 dkycsfy;k	 (2)	 Hkhy

	 (3)	 lgfj;k	 (4)	 rsjgrkyh

	 7.	 fuEufyf[kr esa ls dkSu lk ;qXe lqesfyr gS\

	 	uke		  xzaFk (laxhr)

	 (1)	 iqaMjhd foB~By	 &	 jkxekyk

	 (2)	 iafMr HkkoHkV~V	 &	 laxhrjkt

	 (3)	 oqQEHkk	 &	 jkx dYinzqe

	 (4)	 mLrkn pk¡n [kku	 &	 jkx pafnzdk

	 1.	 The ancient city which is mentioned in the 
Mahabharata and Mahabhashya both

	 (1)	 Viratnagar (Bairath)

	 (2)	 Madhyamika (Nagari)

	 (3)	 Raidh

	 (4)	 Karkot

	 2.	 The inscription which proves the influence of 
Bhagwat cult in ancient Rajasthan is

	 (1)	 Ghatiyala Inscription

	 (2)	 Besnagar Inscription of Heliodorous

	 (3)	 Buchkala Inscription

	 (4)	 Ghosundi Inscription

	 3.	 From the following temples of Rajasthan identify 
the temples which were built in the Gurjar-Pratihar 
period :

	 (i)	 Adivarah temple of Ahad

	 (ii)	 Harshat Mata temple of Abhaneri

	 (iii)	 Neelkanth temple of Rajorgarh

	 (iv)	 Harihar temple of Osian

		  Codes:
	 (1)	 (i) and (iv)

	 (2)	 (i), (ii) and (iv)

	 (3)	 (ii) and (iv)

	 (4)	 (i), (ii), (iiii) and (iv)

	 4.	 Who amongst the following scholars was not in 
the Court of Kumbha?

	 (1)	 Tilla Bhatt	 (2)	 Muni Sunder Suri

	 (3)	 Muni Jin Vijay Suri	 (4)	 Natha

	 5.	 With which of the following areas of Rajasthan the 
Alibakshi Khayal is associated?

	 (1)	 Karauli	 (2)	 Chidawa

	 (3)	 Alwar	 (4)	 Chittor

	 6.	 Shankariya dance of Rajasthan is related to
	 (1)	 Kalbeliya	 (2)	 Bhil

	 (3)	 Sahariya	 (4)	 Terahtali

	 7.	 Which of the following pairs is correctly matched? 
		  Name		  Text (Music)

	 (1)	 Pundrik Vitala	 -	 Raagmala

	 (2)	 Pandit Bhavbhatt	 -	 Sangeetraj

	 (3)	 Kumbha	 -	 Ragakalpadrum

	 (4)	 Ustad Chand khan	 -	 Ragachandrika
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	 8.	 fuEufyf[kr esa ls dkSu&lk ;qXe xyr lqesfyr gS\

	 	Ñ"kd vkanksyu		  usrk

	 (1)	 csxwa	 &	 jkeukjk;.k pkSèkjh

	 (2)	cwanh	 &	 u;uwjke 'kekZ

	 (3)	 fctksfy;k	 &	 fot; flag ifFkd

	 (4)	 chdkusj	 &	 ujksÙke yky tks'kh

	 9.	 jktLFkku ds bfrgkl esa ̂ iV~Vk js[k* ls D;k vfHkizk; gS\

	 (1)	 vkdfyr jktLo	 (2)	 lSU; dj

	 (3)	 vk;kr&fu;kZr dj	 (4)	 csxkj

	10.	 'ks[kkoVh fczxsM dk eq[;ky; dgk¡ fLFkr Fkk\

	 (1)	 lhdj	 (2)	 >qa>quwa
	 (3)	 [ksrM+h	 (4)	 iQrsgiqj

	11.	 Lora=krk iwoZ jktLFkku dk fuEufyf[kr esa ls dkSu&lk 
lekpkj&i=k vk;Z lekth fopkjèkkjk dk laoèkZd 
ugha Fkk\

	 (1)	 ns'k fgrs"kh	 (2)	 tufgrdkjd

	 (3)	 ijksidkjd	 (4)	 jktiwrkuk x”kV

	12.	 jktLFkku ds dkSu ls {ks=k esa pS=k&'kqDy iapeh dks ¶xqykch 
x.kxkSj¸ eukbZ tkrh gS\

	 (1)	 ukFk}kjk	 (2)	 mn;iqj
	 (3)	 cwanh	 (4)	 tksèkiqj

	13.	 lqesfyr dhft;s%

	 	laLFkk		 LFkkiuk o"kZ

	 A.	 jktLFkku lsok la?k	 1.	 1921
	 B.	 ns'k fgrs"kh lHkk	 2.	 1927
	 C.	 vf[ky Hkkjrh; ns'kh	 3.	 1877
		  jkT; yksd ifj"kn

	 D.	 pSacj vkWiQ fizUlst	 4.	 1919

		  owQV%
		  A	 B	 C	 D
	 (1)	 4	 3	 2	 1
	 (2)	 2	 4	 1	 3
	 (3)	 1	 2	 4	 3
	 (4)	 4	 2	 3	 1

	14.	fuEufyf[kr esa ls loZizFke fdlus jktLFkku ds jktlh 
'kkld oxZ ds fy;s i`Fko~Q f'k{kk laLFkku dh vko';drk 
ij cy fn;k Fkk\

	 (1)	 duZy yksp	 (2)	 ykWMZ ySalMkmQu
	 (3)	 dSIVu okYVj	 (4)	 ykWMZ es;ks

	15.	 jktLFkkuh lkfgR; dh ,d izkjafHkd jpuk ^galkoyh* 
jfpr gSA

	 (1)	 gsepUnz }kjk	 (2)	 vlkbZr }kjk

	 (3)	 Jhèkj O;kl }kjk	 (4)	 bZljnkl }kjk

	 8.	 Which of the following pair is not correctly 
matched?

		  Peasant		  Leader
		  Movement
	 (1)	 Begun	 -	 Ram Narayan Chaudhary
	 (2)	 Bundi	 -	 Naynu Ram Sharma
	 (3)	 Bijoliya	 -	 Vijay Singh Pathik
	 (4)	 Bikaner	 -	 Narottam Lal Joshi
	 9.	 What is the meaning of Patta Rekh' in the history 

of Rajasthan?
	 (1)	 Expected revenue	 (2)	 Military tax
	 (3)	 Export-import tax	 (4)	 Begar
	 10.	 Where was the Headquarter of Shekhawati Brigade 

located?
	 (1)	 Sikar	 (2)	 Jhunjhunu
	 (3)	 Khetri	 (4)	 Fatehpur
	 11.	 Which one of the following newspapers of pre-

independence Rajasthan was not the promoter of 
Arya Samaj ideology?

	 (1)	 Desh Hiteshi	 (2)	 Janhitkarak
	 (3)	 Paropkarak	 (4)	 Rajputana Gazette
	 12.	 In which of the following area of Rajasthan, 

"Gulabi Gangaur" is celebrated on Chaitra Shukla 
Panchmi?

	 (1)	 Nathdwara	 (2)	 Udaipur
	 (3)	 Bundi	 (4)	 Jodhpur
	 13.	 Match the above :
	 	 Institution		  Year of
				    Establishment
	 A.	 Rajasthan Seva Sangh	 1.	 1921
	 B.	 Desh Hiteshi Sabha	 2.	 1927
	 C.	 All India State	 3.	 1877
	 	 People's Conference
	 D.	 Chamber of Princes	 4.	 1919
		  Code:
		  A	 B	 C	 D
	 (1)	 4	 3	 2	 1
	 (2)	 2	 4	 1	 3
	 (3)	 1	 2	 4	 3
	 (4)	 4	 2	 3	 1
	 14.	 Who among the following was the first to 

emphasise the need to establish separate educational 
institution for the rulers of the princely states of 
Rajasthan?

	 (1)	 Colonel Loch	 (2)	 Lord Lansdowne
	 (3)	 Captain Walter	 (4)	 Lord Mayo
	 15.	 'Hansawali', an early work Rajasthani literature 

was written by
	 (1)	 Hemchandra	 (2)	 Asayit
	 (3)	 Sridhar Vyas	 (4)	 Isardas
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	16.	 lwph&I dks lwph&II ls lqesfyr dhft;s rFkk lgh mÙkj 
dk p;u uhps fn;s owQV ls dhft;s%

	 	lwph&I		  lwph&II
		  (ioZr f'k[kj)		 (egk}hi)
	 A.	 dksflLdks	 i.	 ;wjksi
	 B.	 eSfdUys	 ii.	 vÚhdk
	 C.	 vYczwl	 iii.	 vkWLVªsfy;k
	 D.	 fdfyeatkjks	 iv.	 mÙkjh vesfjdk

	 	owQV%
		  A	 B	 C	 D
	 (1)	 iv	 iii	 ii	 i
	 (2)	 iii	 iv	 i	 ii
	 (3)	 iii	 i	 ii	 iv
	 (4)	 ii	 iv	 iii	 i

	 17.	 vEy o"kkZ esa uhps fn;s x, dkSu ls iznw"kd o"kkZ&ty 
,oa fge dks iznwf"kr djrs gSa\

	 (A)	 lYiQj&Mkb&vkWDlkbM	 (B)	 ukbVªkstu&vkWDlkbM
	 (C)	 dkcZu&Mkb&vkWDlkbM	 (D)	 feFksu
	 	owQV%
	 (1)	 (A), (B) vkSj (D)	 (2)	 (A), (C) vkSj (D)
	 (3)	 dsoy (B) vkSj (C)	 (4)	 (A) vkSj (B)

	 18.	 fuEufyf[kr esa ls dkSu ls fdlh izns'k dh tSo&fofoèkrk 
ds fy;s ladV gks ldrs gSa\

	 (A)	 Hkwe.Myh; riu
	 (B)	 izkÑfrdokl dk fo[k.Mu
	 (C)	 fons'kh iztkfr;ksa dk vkØe.k
	 (D)	 'kkdkgkj dks izksRlkgu

	 	lgh mÙkj dk p;u uhps fn;s owQV ls dhft;s%

	 	dwV%
	 (1)	 (A), (B) vkSj (C)
	 (2)	 dsoy (B) vkSj (C)
	 (3)	 dsoy (A) vkSj (D)
	 (4)	 (B), (C) vkSj (D)

	 19.	 lwph&I dks lwph&II ds lkFk lqesfyr djrs gq, uhps 
fn;s x, owQV dh lgk;rk ls lgh mÙkj dk p;u dhft;s%

	 	lwph&I		  lwph&II
		  (vkS|ksfxd izns'k)		  (ns'k)
	 A.	 yadk'kk;j izns'k	 i.	la;qDr jkT; vesfjdk
	 B.	 #gj izns'k	 ii.	teZuh
	 C.	 dSfgu izns'k	 iii.	;wukbVsM fdaxMe
	 D.	 nf{k.kh visysf';u izns'k	iv.	tkiku
		 owQV%
		  A	 B	 C	 D
	 (1)	 i	 ii	 iii	 iv
	 (2)	 iii	 ii	 i	 iv
	 (3)	 iii	 ii	 iv	 i
	 (4)	 iii	 iv	 ii	 i

	 16.	 Match List-I with List-II and select the correct 
answer using codes given above:

		  List-I		  List-II
		  (Mountain Peak)		  (Continent)
	 A.	 Kosciuszko	 i.	 Europe
	 B.	 Mckinley	 ii.	 Africa
	 C.	 Elbrus	 iii.	 Australia
	 D.	 Kilimanjaro	 iv.	 North Amrerica
	 	 Codes:
		  A	 B	 C	 D
	 (1)	 iv	 iii	 ii	 i
	 (2)	 iii	 iv	 i	 ii
	 (3)	 iii	 i	 ii	 iv
	 (4)	 ii	 iv	 iii	 i
	 17.	 In acid rain, the rain water and show is contaminated 

by which of the following pollutants?
	 (A)	 Sulphur-di-oxide	 (B)	 Nitrogen oxide
	 (C)	 Carbon-di-oxide	 (D)	 Methane
	 	 Codes:
	 (1)	 (A), (B) and (D)	 (2)	 (A), (C) and (D)
	 (3)	 Only (B) and (C)	 (4)	 Only (A) and (B)
	 18.	 Which of the following can be threats to the 

biodiversity of a region?
	 (A)	 Global Warming
	 (B)	 Fraginentation of habitat
	 (C)	 Invasion of alien species
	 (D)	 Promotion of Vegetarianism
	 	 Select the correct answer using code given below:
		  Codes:
	 (1)	 (A), (B) and (C)
	 (2)	 (B) and (C) only
	 (3)	 (A) and (D)
	 (4)	 (B), (C) and (D)
	 19.	 Match List-I with List-II and select the correct 

answer using codes given above:
	 	 List-I (Industrial		  List-II
		  Regions)		  (Country)
	 A.	 Lancashire Region	 i.	 United States of 	

		  America
	 B.	 Ruhr Region	 ii.	 Germany
	 C.	 Keihin Region	 iii.	 United Kingdom
	 D.	 Southern	 iv.	 Japan
	 	 Appalachian Region
		  Codes:
		  A	 B	 C	 D
	 (1)	 i	 ii	 iii	 iv
	 (2)	 iii	 ii	 i	 iv
	 (3)	 iii	 ii	 iv	 i
	 (4)	 iii	 iv	 ii	 i
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	 20.	 fuEufyf[kr esa ls dkSu&lk lqesfyr ugha gS\

		  njsZ		  jkT; esa fLFkfr
	 (1)	 f'kidh yk	 &	 tEew o d'ehj

	 (2)	 tSysi yk	 &	 flfDde

	 (3)	 ckWe fM yk	 &	 v#.kkpy izns'k

	 (4)	 ekuk vkSj uhfr	 &	 mÙkjk[k.M

	21.	dFku (A): Hkkjr esa gfjr Økafr ds iQyLo:i [kk|kuksa 
ds mRiknu esa o`f¼ gqbZ gSA

	 	dkj.k (R): Hkkjr esa gfjr Økafr ds ifj.kkeLo:i 
{ks=kh; vlekurkvksa esa o`f¼ gqbZ gSA

	 	owQV%
	 (1)	 (A) vkSj (R) nksuksa lgh gSa ,oa (R), (A) dh 

lgh O;k[;k djrk gSA

	 (2)	 (A) vkSj (R) nksuksa lgh gSa] ijarq (R), (A) dh 
lgh O;k[;k ugha djrk gSA

	 (3)	 (A) lgh gS] ijarq (R) xyr gSA
	 (4)	 (A) xyr gS] ijarq (R) lgh gSA

	22.	 fuEufyf[kr esa ls lu~ 2013–14 esa Hkkjr esa eSxuh”k 
mRiknd jkT;ksa esa mPp ls fuEu mRiknu Lrj dk dkSu&lk 
Øe lgh gS\

	 (1)	 eè; izns'k] vksfM'kk] vkaèkz izns'k ,oa jktLFkku

	 (2)	 jktLFkku] vksfM'kk] eè; izns'k ,oa vkaèkz izns'k

	 (3)	 eè; izns'k] vksfM'kk] jktLFkku ,oa vkaèkz izns'k

	 (4)	 vksfM'kk] eè; izns'k] vkaèkz izns'k ,oa jktLFkku

	23.	 mÙkj&nf{k.k xfy;kjs (North-South Corridor) ij fLFkr 
fuEufyf[kr uxjksa dks mÙkj ls nf{k.k ds ozQe esa O;ofLFkr 
djrs gq, lgh mÙkj dk p;u uhps fn;s owQV ls dhft;s%

	 A.	 ukxiqj	 B.	 vkxjk

	 C.	 Ñ".kkfxfj	 D.	 Xokfy;j

	 	owQV%
	 (1)	 B, C, A vkSj D	 (2)	 B, D, A vkSj C
	 (3)	 D, B, C vkSj A	 (4)	 A, B, D vkSj C

	 24.	 fuEufyf[kr esa ls dkSu&lk lewg jktLFkku dh ioZr 
pksfV;ksa dk mudh m¡QpkbZ ds vuqlkj lgh vojksgh 
Øe gS\

	 (1)	 nsyokM+k] lTtux<+] tjxk] rkjkx<+
	 (2)	 lsj] tjxk] lTtux<+] rkjkx<+
	 (3)	tjxk] lsj] lTtux<+] rkjkx<+
	 (4)	 tjxk] nsyokM+k] rkjkx<+] lTtux<+

	25.	 jktLFkku dh fdl >hy dks jkelj vknzZHkwfe dh lwph 
esa lfEefyr fd;k x;k gS\

	 (1)	 t;lean >hy	 (2)	 vkuklkxj >hy

	 (3)	 jktlean >hy	 (4)	 lkaHkj >hy

	 20.	 Which of the following is not a correct match?
		  Passes		  Location in State
	 (1)	 Shipki La	 -	 Jammu & Kashmir
	 (2)	 Jelep La	 -	 Sikkim
	 (3)	 Bom Di La	 -	 Arunachal Pradesh
	 (4)	 Mana and	 -	 Uttarakhand niti
	 21.	 Assertion (A) : Green Revolution has resulted in 

the growth of food grain production in India.
		  Reason (R) : Regional disparities have aggravated 

due to the green revolution in India.
		  Codes:
	 (1)	 Both (A) and (R) are true and (R) is the 

correct explanation of (A).
	 (2)	 Both (A) and (R) are true but (R) is not the 

correct explanation of (A)
	 (3)	 (A) is true and (R) is false.
	 (4)	 (A) is false and (R) is true.
	 22.	 Which is the correct sequence of following 

manganese producing States : of India in terms of 
high to low production status in the year 2013-14?

	 (1)	 Madhya Pradesh, Odisha, Andhra Pradesh 
and Rajasthan

	 (2)	 Rajasthan, Odisha, Madhya Pradesh and 
Andhra Pradesh

	 (3)	 Madhya Pradesh, Odisha, Rajasthan and 
Andhra Pradesh

	 (4)	 Odisha, Madhya Pradesh, Andhra Pradesh 
and Rajasthan

	 23.	 Arrange the following cities located on North-
South corridor in a sequence from North to South.

	 	 Select the correct answer using code given below:
	 A.	 Nagpur	 B.	 Agra
	 C.	 Krishnagiri	 D.	 Gwalior
		  Codes:
	 (1)	 B, C, A and D	 (2)	 B, D, A and C
	 (3)	 D, B, C and A	 (4)	 A, B, D and C
	 24.	 Which of the following groups represent the correct 

sequence of mountain peaks of Rajasthan in 
descending order of their height?

	 (1)	 Delwara, Sajjangarh, Jarga, Taragarh
	 (2)	 Ser, Jarga, Sajjangarh, Taragarh
	 (3)	 Jarga, Ser, Sajjangarh, Taragarh
	 (4)	 Jarga, Delwara, Taragarh, Sajjangarh
	 25.	 Which of the following lakes of Rajasthan has been 

included in the list of Ramsar wetland sites?
	 (1)	 Jaisamand Lake	 (2)	 Anasagar Lake
	 (3)	 Rajsamand Lake	 (4)	 Sambhar Lake
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	26.	 jktLFkku ljdkj }kjk igyh ou uhfr dk vuqeksnu dc 
fd;k x;k\

	 (1)	 flrEcj 2011	 (2)	 vxLr 2010
	 (3)	 ekpZ 2011	 (4)	 iQjojh 2010

	 27.	 jktLFkku ljdkj us dkSu ls o"kZ esa jktLFkku tSfod 
fofoèkrk fu;eks a dks cuk;k rFkk jktLFkku jkT; 
tSo&fofoèkrk cksMZ dh LFkkiuk dh\

	 (1)	 2008	 (2)	 2010
	 (3)	 2012	 (4)	 2014

	 28.	 pkSèkjh oqQEHkk jke ugj }kjk ykHkkfUor ftyk ;qXe gS
	 (1)	 guqekux<+&>qa>quaw
	 (2)	 HkhyokM+k&Vksad
	 (3)	 chdkusj&tksèkiqj

	 (4)	 ckM+esj&tSlyesj

	29.	 xyr ;qXe dks igpkfu;s%

	 	[kfut		  [kku
	 (1)	 ftIle	 –	 iykuk

	 (2)	 xqykch laxejej	 &	 ckcjey

	 (3)	 rkeM+k	 &	 jktegy

	 (4)	 ;wjsfu;e	 &	 oqQjkfM+;k

	30.	 tux.kuk 2011 ds vuqlkj jktLFkku ds lokZfèkd oqQy 
tula[;k okys ftyksa dks vojksgh Øe esa tek,¡%

	 (1)	 t;iqj] dksVk] tksèkiqj] chdkusj

	 (2)	 t;iqj] tksèkiqj] vyoj] ukxkSj

	 (3)	 t;iqj] mn;iqj] tksèkiqj] chdkusj

	 (4)	 t;iqj] chdkusj] tksèkiqj] mn;iqj

	31.	 o"kZ 2011 esa fuEufyf[kr esa ls dkSu ls nks ftys mudh 
oqQy tula[;k esa lcls de vuqlwfpr tutkfr izfr'kr 
j[krs gSa\

	 (1)	 pq: vkSj lhdj

	 (2)	 xaxkuxj vkSj guqekux<+

	 (3)	 chdkusj vkSj ukxkSj

	 (4)	 Hkjriqj vkSj èkkSyiqj

	32.	 jktLFkku ds fuEufyf[kr ftyksa dks iwoZ ls if'pe dh 
vksj lgh Øe ls O;ofLFkr djsa%

	 A.	 cwanh	 B.	 vtesj

	 C.	 mn;iqj	 D.	 ukxkSj
	 (1)	 A, B, C, D	 (2)	 B, A, C, D
	 (3)	 A, B, D, C	 (4)	 A, C, B, D

	 33.	 tudiqjk vkSj ljokM+ [kkusa ftl [kfut ds mRiknu ds 
fy;s tkuh tkrh gSa] og gS

	 (1)	 iUuk	 (2)	 rkeM+k
	 (3)	 ikbjkbV	 (4)	 csjkbV~l

	 26.	 When did the Rajasthan Govt. approved first forest 
policy?

	 (1)	 September 2011	 (2)	 August 2010
	 (3)	 March 2011	 (4)	 February 2010
	 27.	 In which year the Government of Rajasthan made 

Rajasthan Biological Diversity Rules and 
established the Rajasthan State Biodiversity 
Board?

	 (1)	 2008	 (2)	 2010
	 (3)	 2012	 (4)	 2014
	 28.	 The pair of districts benefitting from Choudhary 

Kumbha Ram Canal is
	 (1)	 Hanumangarh-Jhunjhunu
	 (2)	 Bhilwara-Tonk
	 (3)	 Bikaner-Jodhpur
	 (4)	 Barmer-Jaisalmer
	 29.	 Identify the wrong pair :
	 	 Mineral		  Mine
	 (1)	 Gypsum	 -	 Palana
	 (2)	 Pink Marble	 -	 Babarmal
	 (3)	 Garnet	 -	 Rajmahal
	 (4)	 Uranium	 -	 Kuradiya
	 30.	 Arrange the districts with maximum total 

population in Rajasthan in descending order as per 
Census 2011:

	 (1)	 Jaipur, Kota, Jodhpur, Bikaner
	 (2)	 Jaipur, Jodhpur, Alwar, Nagaur
	 (3)	 Jaipur, Udaipur, Jodhpur, Bikaner
	 (4)	 Jaipur, Bikaner, Jodhpur, Udaipur
	 31.	 Which of the following two districts of Rajasthan 

are having lowest percentage of scheduled tribes 
to total population in 2011?

	 (1)	 Churu and Sikar
	 (2)	 Ganganagar and Hanumangarh
	 (3)	 Bikaner and Nagaur
	 (4)	 Bharatpur and Dholpur
	 32.	 Arrange the following districts of Rajasthan in 

correct order from East to West 
	 A.	 Bundi	 B.	 Ajmer
	 C.	 Udaipur	 D.	 Nagaur
	 (1)	 A, B, C, D	 (2)	 B, A,C, D
	 (3)	 A, B, D,C	 (4)	 A,C, B, D
	 33.	 The mines of Janakpura and Sarwar are known for 

the production of
	 (1)	 Emerald	 (2)	 Garnet
	 (3)	 Pyrite	 (4)	 Barytes
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	34.	 lwph&I dks lwph&II ls lqesfyr dhft;s rFkk uhps fn;s 
x, owQV dk iz;ksx dj lgh mÙkj pqfu;s%

		 lwph&I	 	lwph&II
		  (oU;tho lajf{kr {ks=k)		 (ftyk)

	 A.	 tksM+chM+ xMsoky	 1.	 >qa>quaw
	 B.	 xq<+k fo'uksbZ	 2.	 ukxkSj
	 C.	 xksxsyko	 3.	 tksèkiqj
	 D.	 chM+	 4.	 chdkusj

		 owQV%
		  A	 B	 C	 D
	 (1)	 4	 3	 1	 2
	 (2)	 4	 3	 2	 1
	 (3)	 1	 3	 4	 2
	 (4)	 1	 2	 3	 4

	35.	 fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 A.	 vjkoyh e:LFky osQ iwoZorhZ foLrkj dks jksdrk gSA

	 B.	 jktLFkku dh lHkh ufn;ksa dk mn~xe vjkoyh 
ls gSA

	 C.	 jktLFkku esa o"kkZ dk forj.k izk:i vjkoyh ls 
izHkkfor ugha gksrk gSA

	 D.	 vjkoyh izns'k èkkfRod [kfutksa esa le`¼ gSA

	 	lgh mÙkj dk p;u uhps fn;s owQV ls dhft;s%

		 owQV%
	 (1)	 A, B vkSj C lgh gSaA

	 (2)	 B, C vkSj D lgh gSaA

	 (3)	 dsoy C vkSj D lgh gSaA

	 (4)	 dsoy A vkSj D lgh gSaA

	36.	 fuEu esa ls Hkkjr ljdkj vfèkfu;e 1919 ds ckjs esa 
vlR; dFku dks fpfÉr dhft;s%

	 (1)	 Hkkjr ljdkj vfèkfu;e] 1919, 1921 esa ykxw 
gqvkA

	 (2)	 ;g vfèkfu;e eksysZ&feUVks lqèkkj vfèkfu;e ds 
uke ls Hkh tkuk tkrk gSA

	 (3)	 eksUVsX;w Hkkjr ds jkT; lfpo ,oa ykWMZ psEliQksMZ 
Hkkjr ds ok;ljk; FksA

	 (4)	 bl vfèkfu;e esa dsanzh; ,oa izkUrh; fo"k;ksa dks 
vyx dj fn;k x;k FkkA

	37.	fuEu esa ls ,d dFku vlR; gSA crkb;s%

	 (1)	 cEcbZ jkT; xqtjkr ,oa egkjk"Vª esa foHkkftr 
fd;k x;kA

	 (2)	 eSlwj jkT; dk u;k uke rfeyukMq j[kk x;kA

	 (3)	 fgekpy izns'k igys la?k 'kkflr izns'k dh lwph 
esa FkkA

	 (4)	 xksok dks neu ,oa nho ls vyx fd;k x;kA

	 34.	 Match List-I with List-II and select the correct 
answer using codes given above:

		  List-I		  List-II
		  (Wildlife Conservation		  (District)
		  Reserve)
	 A.	 Jorbeed Gadhewal	 1.	 Jhunjhunu
	 B.	 Gudha Vishnoi	 2.	 Nagaur
	 C.	 Gogelav	 3.	 Jodhpur
	 D.	 Beed	 4.	 Bikaner
		  Codes:
		  A	 B	 C	 D
	 (1)	 4	 3	 1	 2
	 (2)	 4	 3	 2	 1
	 (3)	 1	 3	 4	 2
	 (4)	 1	 2	 3	 4
	 35.	 Consider the following statements :
	 A.	 Aravalli restricts the eastward expansion of 

desert.
	 B.	 All the rivers of Rajasthan have their origin 

from Aravalli.
	 C.	 Distributional pattern of rainfall in Rajasthan 

is not affected by Aravalli.
	 D.	 Aravalli region is rich in metallic minerals.
	 	 Select the correct answer using code given below:
		  Codes :
	 (1)	 A, B and C are correct.
	 (2)	 B, C and D are correct.
	 (3)	 Only C and D are correct.
	 (4)	 Only A and D are correct.
	 36.	 Identify the incorrect statement about Government 

of India Act 1919:
	 (1)	 The Government of India Act 1919 came 

into foree in 1921.
	 (2)	 This Act is also known as Morley Minto 

Reforms Act
	 (3)	 Montagu was the Secretary of State for India 

and Lord Chelmsford was the Viceroy of 
India.

	 (4)	 This Act separated the Central and Provincial 
subjects.

	 37.	 One of the following statements is incorrect. Point 
out:

	 (1)	 The State of Bombay was split up into 
Gujarat and Maharashtra.

	 (2)	 State of Mysore was renamed as Tamil Nadu.
	 (3)	 Himachal Pradesh was previously in the list 

of Union Territories.
	 (4)	 Goa was separated from Daman and Diu.
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	38.	 lafoèkku esa ekSfyd drZO;ksa dks dc lfEefyr fd;k 
x;k\

	 (1)	 1975 esa	 (2)	 1976 esa

	 (3)	 1978 esa	 (4)	 1979 esa

	39.	 dsanzh; lwpuk vk;qDr dk dk;Zdky gksrk gSA

	 (1)	 5 o"kZ ;k 62 o"kZ dh vk;q rd

	 (2)	 6 o"kZ ;k 65 o"kZ dh vk;q rd

	 (3)	 5 o"kZ ;k 65 o"kZ dh vk;q rd

	 (4)	 6 o"kZ ;k 62 o"kZ dh vk;q rd

	40.	 fuEufyf[kr esa ls fdl foèkk;h lnu dks lekIr fd;k 
tk ldrk gS\

	 (1)	 yksd lHkk	 (2)	 jkT; lHkk

	 (3)	 foèkku ifj"kn	 (4)	 foèkku lHkk

	41.	 jkT;ksa ds fuEukafdr esa ls fdl lewg ij islk ¹iapk;r 
(vuqlwfpr {ks=kksa esa foLrkj) vfèkfu;eº] 1996 izorZuh; 
ugha gS\

	 (1)	 vle&es?kky;&rfeyukMq

	 (2)	 jktLFkku&rsyaxkuk&egkjk"Vª

	 (3)	 fgekpy izns'k&xqtjkr&NÙkhlx<+

	 (4)	 vkaèkz izns'k&>kj[kaM&vksfM'kk

	42.	 fuEufyf[kr jkT;ksa@la?k 'kkflr {ks=k ds lewg esa ls fdldh 
yksd lHkk esa dsoy ,d lhV gS\

	 (1)	 v#.kkpy izns'k] flfDde] y{k}hi

	 (2)	 xksok] es?kky;] ukxkySaM

	 (3)	 paMhx<+] flfDde] fetksje

	 (4)	 ef.kiqj] nknjk vkSj uxj gosyh] iqnqpsjh

	43.	 lwph&I dks lwph&II ls esy dhft;s vkSj uhps fn;s x, 
owQV esa ls lgh mÙkj dk p;u dhft;s%

		 lwph&I	 	lwph&II

	 A.	 mikfèk;ksa dk fu"ksèk	 i.	 vuqPNsn 29

	 B.	 èkkfeZd ekeyksa ds	 ii.	 vuqPNsn 21 d

	 	izcaèk dh Lora=krk

	 C.	 vYila[;dksa dh	 iii.	 vuqPNsn 18

	 	Hkk"kk dk laj{k.k

	 D.	 f'k{kk dk vfèkdkj	 iv.	 vuqPNsn 26

	 	owQV%
		  A	 B	 C	 D
	 (1)	 ii	 iii	 iv	 i
	 (2)	 iii	 ii	 i	 iv
	 (3)	 iii	 iv	 i	 ii
	 (4)	 iv	 iii	 ii	 i

	 38.	 When were the Fundamental Duties incorporated 
in the Constitution?

	 (1)	 In 1975	 (2)	 In 1976

	 (3)	 In 1978	 (4)	 In 1979

	 39.	 The tenure of Central Information Commissioner 
is

	 (1)	 5 years or 62 years of age

	 (2)	 6 years or 65 years of age

	 (3)	 5 years or 65 years of age

	 (4)	 6 years or 62 years of age

	 40.	 Which one of the following legislative house can 
be abolished?.

	 (1)	 Lok Sabha	 (2)	 Rajya Sabha

	 (3)	 Vidhan Parishad	 (4)	 Vidhan Sabha

	 41.	 In which of the following group of the States, PESA 
[Panchayats (Extension to Scheduled Areas) Act), 
1996 is not enforceable?

	 (1)	 Assam-Meghalaya-Tamil Nadu

	 (2)	 Rajasthan-Telangana-Maharashtra

	 (3)	 Himachal Pradesh-Gujarat -Chhattisgarh

	 (4)	 Andhra Pradesh-Jharkhand -Odisha

	 42.	 Among the following which group of States/Union 
Territories have only one seat in the Lok Sabha?

	 (1)	 Arunachal Pradesh, Sikkim, Lakshadweep

	 (2)	 Goa, Meghalaya, Nagaland

	 (3)	 Chandigarh, Sikkim, Mizoram

	 (4)	 Manipur, Dadra and Nagar Haveli, 
Puducherry

	 43.	 Match List-I with List-II and select the correct 
answer using codes given above:

		  List-I		  List-II

	 A.	 Abolition of titles	 i.	 Article29

	 B.	 Freedom to manage	 ii.	 Article 21 A

	 	 religious affairs

	 C.	 Protection of language	 iii.	 Article 18

	 	 of minorities

	 D.	 Right to education	 iv.	 Article 26

		  Codes:
		  A	 B	 C	 D
	 (1)	 ii	 iii	 iv	 i
	 (2)	 iii	 ii	 i	 iv
	 (3)	 iii	 iv	 i	 ii
	 (4)	 iv	 iii	 ii	 i
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	44.	 fuEu esa ls ,d Hkkjr ljdkj vfèkfu;e] 1935 dh 
eq[; fo'ks"krkvksa esa ls ugha Fkh%

	 (1)	 ;g izkUrh; Lok;Ùkrk ds lw=kikr dk ladsr FkkA
	 (2)	 bl vfèkfu;e esa vf[ky Hkkjrh; egkla?k dk 

izkoèkku FkkA
	 (3)	 blus izkarh; Lrj ij }Sèk 'kklu iz.kkyh dks lekIr 

dj dsanz esa ykxw fd;kA
	 (4)	 vof'k"V fo"k; izkarh; foèkkf;dkvksa dks vkoafVr 

fd;s x, FksA

	45.	 Hkkjr osQ jk"Vªifr osQ egkfHk;ksx dh izfØ;k gS
	 (1)	 U;kf;d izfØ;k
	 (2)	 vèkZ&U;kf;d izfØ;k
	 (3)	 foèkk;h izfØ;k
	 (4)	 dk;Zikfydk&izfØ;k

	46.	 jktLFkku jkT; esa 30 twu] 2016 rd fdruh ckj jk"Vªifr 
'kklu ykxw fd;k x;k gS\

	 (1)	 5 ckj	 (2)	 3 ckj
	 (3)	 6 ckj	 (4)	 4 ckj

	47.	 lu~ 1952 ds ifjlheu vk;ksx us jktLFkku foèkku lHkk 
dh lnL; la[;k fdruh fuèkkZfjr dh Fkh\

	 (1)	 200
	 (2)	 160
	 (3)	 188
	 (4)	 izR;sd ftys esa rhu foèkk;d

	 48.	 jktLFkku ds jkT;iky ds :i esa Jh dY;k.k flag dh 
fu;qfDr ds iwoZ] fuEukafdr esa ls dkSu jkT; ds dk;Zokgd 
jkT;iky Fks\

	 (1)	 vks-ih- dksgyh	 (2)	 jkeujs'k ;kno
	 (3)	 jke uk;d	 (4)	 ekxZjsV vYok

	49.	 jktLFkku yksd lsok vk;ksx ds vè;{k ds :i esa] 
fuEukafdr esa ls fdldk dk;Zdky lcls yack jgk gS\

	 (1)	 eksgEen ;kowQc	 (2)	 ;rhanz flag
	 (3)	 Mh-,l-frokM+h	 (4)	 lh-vkj- pkSèkjh

	50.	 ftyk vk;kstu lfefr esa fuokZfpr o insu lnL; fdrus 
gksrs gSa\

	 (1)	 20 vkSj 5	 (2)	 20 vkSj 3
	 (3)	 20 vkSj 2	 (4)	 20 vkSj 10

	 51.	 ftyk n.Muk;d ds :i esa ftyk dysDVj dh 'kfDr;k¡ gSa
	 A.	 dkuwu o O;oLFkk cuk, j[kukA
	 B.	 iqfyl ij fu;a=k.k j[kukA
	 C.	 fonsf'k;ksa ds ikji=kksa dh tk¡p djukA
	 D.	 Hkw&jktLo ,d=k djukA

	 	owQV esa ls lgh mÙkj dk p;u dhft;s%

	 	owQV%
	 (1)	 A, B, C	 (2)	 A, C, D
	 (3)	 B, C, D	 (3)	 A, B, D

	 44.	 One amongst the following was not a salient feature 
of the Government of India Act, 1935:

	 (1)	 It marked the beginning of the Provincial 
Autonomy.

	 (2)	 The Act provided for an All India Federation.
	 (3)	 It abolished Diarchy at the Provincial level 

and introduced it at the Centre.
	 (4)	 Residuary subjects were allocated to 

Provincial Legislatures.
	 45.	 The procedure of Impeachment of the President of 

India is
	 (1)	 Judicial Procedure
	 (2)	 Quasi-Judicial Procedure
	 (3)	 Legislative Procedure
	 (4)	 Executive Procedure
	 46.	 How many times President's rule has been imposed 

in the State of Rajasthan till 30th June, 2016?
	 (1)	 5 times	 (2)	 3 times
	 (3)	 6 times	 (4)	 4 times
	 47.	 Delimitation Commission of 1952 had determined 

the strength of Rajasthan Legislative Assembly as
	 (1)	 200
	 (2)	 160
	 (3)	 188
	 (4)	 Three MLAs for each district.
	 48.	 Before the appointment of Shri Kalyan. Singh as 

the Governor of Rajasthan who among the 
following: was the Acting Governor of the State?

	 (1)	 O.P. Kohli	 (2)	 Ram Naresh Yadav
	 (3)	 Ram Naik	 (4)	 Margaret Alva
	 49.	 Among the following, whose tenure has been the 

longest as the Chainnan of Rajasthan Public 
Service Commission?

	 (1)	 Mohammad Yaqub	 (2)	 Yatindra Singh
	 (3)	 D.S. Tewari	 (4)	 C.R.Choudhary
	 50.	 How many elected and Ex-Officio members are 

there in District Planning Committee?
	 (1)	 20 and 5	 (2)	 20 and 3
	 (3)	 20 and 2	 (4)	 20 and 10
	 51.	 The powers of District Collector as a District 

Magistrate are:
	 A.	 To maintain law and order
	 B.	 Control over police
	 C.	 To check passports of foreigners
	 D.	 To control land revenue
	 	 Select the correct answer from the codes given 

below:
		  Codes:
	 (1)	 A, B, C	 (2)	 A, C, D
	 (3)	 B, C, D	 (4)	 A, B, D
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	 52.	 lgh mÙkj pqusa%

	 	jktLFkku ds jkT;iky oqQykfèkifr gksrs gSa
	 (1)	 lHkh jkT; fo'ofo|ky;ksa ds
	 (2)	 lHkh jkT; fo'ofo|ky;ksa rFkk jkT; esa dk;Zjr 

lHkh dsanzh; fo'ofo|ky;ksa ds
	 (3)	 lHkh jkT; ,oa futh fo'ofo|ky;ksa ds
	 (4)	 lHkh jkT; fo'ofo|ky;ksa] jkT; esa fLFkr dsanzh; 

fo'ofo|ky;k s a rFkk jkT; ds lHkh futh 
fo'ofo|ky;ksa ds

	53.	 jktLFkku lwpuk vk;ksx dk xBu dc gqvk Fkk\
	 (1)	 18 vizSy] 2008	 (2)	 18 vizSy] 2006
	 (3)	 18 vizSy] 2007	 (4)	 18 vizSy] 2005

	 54.	 lgh mÙkj pqusa%

	 	jkT; Lrj ij yksd vk;qDr dh fu;qfDr dh loZizFke 
vuqla'kk fdlus dh Fkh\

	 (1)	 jktLFkku iz'kklfud lqèkkj lfefr
	 (2)	 Hkkjr dk iz'kklfud lqèkkj vk;ksx (1966–70)
	 (3)	 f}rh; iz'kklfud lqèkkj vk;ksx
	 (4)	 lUFkkue lfefr

	55.	 lgh fodYi pqusa%

	 	nks vFkok nks ls vfèkd jkT;ksa ds fy;s la;qDr yksd 
lsok vk;ksx vè;{k dh fu;qfDr dkSu djrk gS\

	 (1)	 lcls cM+s jkT; ds jkT;iky ds }kjk
	 (2)	 Hkkjr ds jk"Vªifr ds }kjk
	 (3)	 lHkh lacafèkr jkT;ksa ds jkT;ikyksa dh lfefr }kjk
	 (4)	 lacafèkr jkT;ikyksa dh fliQkfj'k ij Hkkjr ds 

jk"Vªifr ds }kjk

	56.	 jktLFkku foèkku lHkk ds bfrgkl esa 30 twu] 2016 rd 
fdruh ckj fo'okl izLrko izLrqr gqvk vkSj ml ij 
ppkZ gqbZ\

	 (1)	 ,d ckj	 (2)	 nks ckj
	 (3)	 rhu ckj	 (4)	 pkj ckj

	57.	Hkkek'kkg ;kstuk ds lacaèk esa fuEukafdr dFkuksa ij fopkj 
dhft;s%

	 (i)	 ifjokj dh lgefr ls] 21 o"kZ dh vk;q iw.kZ dj 
pqdh ifjokj dh dksbZ Hkh efgyk ifjokj dh 
eqf[k;k ?kksf"kr dh tk ldrh gSA

	 (ii)	 Hkkek'kkg ukekadu dk igyk lR;kiu lacafèkr xzke 
iapk;r ds ljiap }kjk fd;k tkrk gSA

		 owQV%
	 (1)	 dsoy (i) lgh gSA
	 (2)	 dsoy (ii) lgh gSA
	 (3)	 (i) ,oa (ii) nksuksa lgh gSaA
	 (4)	 (i) ,oa (ii) nksuksa xyr gSaA

	 52.	 Choose the correct answer :
	 	 Governor of Rajasthan is Chancellor of
	 (1)	 All State Universities.
	 (2)	 All  State Universit ies and Central 

Universities in the State.
	 (3)	 All State Universities as well as. Private 

Universities in the State.
	 (4)	 All State Universities,  the Central 

Universities in the State and all Private 
Universities in the State.

	 53.	 When was Rajasthan Information Commission 
constituted?

	 (1)	 April 18, 2008	 (2)	 April 18, 2006
	 (3)	 April 18, 2007	 (4)	 April 18, 2005
	 54.	 Choose the correct answer :
	 	 The appointment of Lok Ayukta at the state level 

was first recommended by
	 (1)	 Rajasthan State Administrative Reforms 

Committee
	 (2)	 Administrative Reforms Commission of 

India (1966-70)
	 (3)	 Second Administrative Reforms Commission
	 (4)	 Santhanam Committee
	 55.	 Choose the correct alternative:
	 	 The Chairman of a Joint Public Service Commission 

for two or more States is appointed by
	 (1)	 The Governor of the largest State
	 (2)	 The President of India
	 (3)	 A Committee of Governors of all the States 

concerned
	 (4)	 The President of India on the recommendation 

of the Governors concerned
	 56.	 In the history of Rajasthan Legislative Assembly 

till 30th June, 2016, how many times the confidence 
motion has. been moved and discussed?

	 (1)	 Once	 (2)	 Twice
	 (3)	 Thrice	 (4)	 Four times
	 57.	 Consider the following statements regarding 

Bhamasha Yojana :
	 (i)	 With the consent of the family, any woman 

of the family, who has attained the age of 21 
years, may be declared as the head of the 
family.

	 (ii)	 First verification of Bhamashah enrollment 
is done by the Sarpanch of the concerned 
Gram Panchayat.

		  Codes:
	 (1)	 Only (i) is correct.
	 (2)	 Only (ii) is correct.
	 (3)	 Both (i) and (ii) are correct.
	 (4)	 Both (i) and (ii) are incorrect.
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	58.	 vuqizfr ;kstuk ds ckjs esa fuEufyf[kr esa ls dkSu&lk 
dFku lgh gS\

	 (1)	 ;g ;kstuk vuqlwfpr tkfr dh yM+fd;ksa ds fookg 
gsrq foÙkh; lgk;rk iznku djrh gSA

	 (2)	 ;g ;kstuk vuqlwfpr tkfr vkSj vuqlwfpr tutkfr 
ds fo|kfFkZ;ksa dks dksfpax iznku djrh gSA

	 (3)	 ;g ;kstuk vuqlwfpr tkfr ds vukFk cPpksa dks 
foÙkh; lgk;rk iznku djrh gSA

	 (4)	 ;g ;kstuk vuqlwfpr tkfr vkSj vuqlwfpr tutkfr 
ds fo|ky;h cPpksa dks foÙkh; lgk;rk iznku djrh 
gSA

	59.	 lgh mÙkj nsa%

	 	jktLFkku dk jkT; fuokZpu vk;ksx gS

	 (1)	 ,d oSèkkfud laLFkk

	 (2)	 ,d dk;Zikfydk laLFkk

	 (3)	 ,d laoSèkkfud laLFkk

	 (4)	 Hkkjr ds pquko vk;ksx dh ,d bdkbZ

	 60.	 o"kZ 2015 rd jktLFkku esa iapk;rh jkt laLFkkvksa ds 
fy;s fdruh ckj pquko vk;ksftr fd;s x, gSa\

	 (1)	 5 ckj	 (2)	 8 ckj
	 (3)	 9 ckj	 (4)	 10 ckj

	 61.	 miHkksDrk dher lwpdkad ij vkèkkfjr eqnzk LiQhfr dh 
nj c<+rh gS] ;fn

	 (1)	 cSad nj de dj nh tkrh gSA

	 (2)	 fjolZ jsiks nj de dj nh tkrh gSA

	 (3)	 oSèkkfud rjyrk vuqikr c<+k fn;k tkrk gSA

	 (4)	 jsiks jsV c<+k nh tkrh gSA

	62.	 ekuo fodkl izfrosnu 2015 ds vuqlj.k esa fuEu dFkuksa 
ij fopkj dhft;s%

	 A.	 Hkkjr dk LFkku 188 ns'kksa esa 130ok¡ gSA
	 B.	 ekuo fodkl lwpdkad thou izR;k'kk] f'k{kk vkSj 

izfrO;fDr vk; ij vkèkkfjr gSA

	 C.	 fczDl ds vU; ns'kksa ds eqdkcys Hkkjr fuEure 
LFkku ij gSA

	 	mijksDr esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 (1)	 A vkSj B dsoy	 (2)	 B vkSj C dsoy

	 (2)	 dsoy B	 (d)	 A, B vkSj C rhuksa

	63.	 Hkkjr esa csjkstxkjh vkSj xjhch ds vuqeku vkèkkfjr gSa

	 (1)	 NSSO ds ifjokjksa ds miHkksx O;; ds losZ ijA

	 (2)	 CSO ds ifjokjksa ds miHkksx O;; ds losZ ijA

	 (3)	 ;kstuk vk;ksx ds ifjokjksa ds miHkksx O;; ds losZ 
ijA

	 (4)	 NSSO ds ifjokjksa ds vk; ds losZ ijA

	 58.	 Which one of the following statements is true about 
Anuprati Yojana?

	 (1)	 It is a scheme to give financial help to 
Scheduled Caste girl for marriage.

	 (2)	 It is a scheme to give coaching for Scheduled 
Caste and Scheduled Tribe students.

	 (3)	 It is a scheme to give financial help to orphan 
children of Scheduled Caste.

	 (4)	 It is a scheme to give financial assistance to 
school going children of Scheduled Caste 
and Scheduled Tribe.

	 59.	 Select the correct answer :
	 	 State Election Commission of Rajasthan
	 (1)	 a statutory authority
	 (2)	 an executive authority
	 (3)	 a constitutional authority
	 (4)	 a unit of Election Commission of India
	 60.	 How many times elections have been held for 

Panchayati Raj Institutions in Rajasthan till 2015?
	 (1)	 5 times	 (2)	 8 times
	 (3)	 9 times	 (4)	 10 times
	 61.	 Inflation rate based on consumer price index 

increases if
	 (1)	 Bank rate is decreased
	 (2)	 Reverse repo rate is decreased
	 (3)	 Statutory Liquidity ratio is increased
	 (4)	 Repo rate is increased
	 62.	 As per the Human Development Report 2015, 

consider the following statements :
	 A.	 India ranks 130 out of 188 countries,
	 B.	 HDI is based on the indices for life 

expectancy, education and PCI.
	 C.	 In comparison to other nations in the BRICS, 

India has the lowest rank.
	 	 Which of the statements given above is/are correct?
	 (1)	 A and B only	 (2)	 B and C only
	 (3)	 B only	 (4)	 A, B and C
	 63.	 Unemployment and poverty estimates in India are 

based on
	 (1)	 NSSO household consumption expenditure 

survey
	 (2)	 CSO household consumption expenditure 

survey
	 (3)	 Planning Commission 's  household 

consumption expenditure survey
	 (4)	 NSSO family income survey

	 64.	 Consider the following important sources of tax 
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	64.	 Hkkjr dh dsUnz ljdkj ds dj&jktLo ds fuEu egÙoiw.kZ 
lzksrksa ij è;ku nhft;s%

	 I.	 la?kh; mRiknu 'kqYd	 II.	 fuxe dj

	 III.	 vk; dj	 IV.	 lsok dj

	 	ldy dj jktLo ds lanHkZ esa ?kVrs gq, Øe esa fuEu 
esa ls dkSu&lk ,d lgh gS\

	 (1)	 I, II, IV, III	 (2)	 II, IV, I, III
	 (3)	 II, III, I, IV	 (4)	 IV, I, II, III

	 65.	 o"kZ 1997–98 ds ckn ls U;wure leFkZu ewY; ds lanHkZ 
esa dkSu&lk dFku lR; gS\

	 (1)	 U;wure leFkZu ewY; = C2 ykxrsa
	 (2)	 U;wure leFkZu ewY; > C2 ykxrsa
	 (3)	 U;wure leFkZu ewY; < C2 ykxrsa
	 (4)	 U;wure leFkZu ewY; C2 ykxr ls Lora=k gksrk gSA

	66.	 Hkkjr ds O;kikj larqyu ds ckjs esa fuEu esa ls dkSu&lk 
dFku lgh gS\

	 (1)	Hkkjr dk O;kikj larqyu 1949–50 ls 2015–16 
rd dh laiw.kZ vofèk ds fy;s Í.kkRed FkkA

	 (2)	 Hkkjr dk O;kikj larqyu 1949–50 ls 2015–16 
rd dh laiw.kZ vofèk ds fy;s èkukRed FkkA

	 (3)	 Hkkjr dk O;kikj larqyu 1972–73 rFkk 1976–77 
nks o"kks± dks NksM+dj (tc og èkukRed Fkk) 
1949–50 ls 2015–16 rd dh laiw.kZ vofèk ds 
fy;s Í.kkRed FkkA

	 (4)	 Hkkjr dk O;kikj larqyu 1972–73 rFkk 1976–77 
ds nks o"kks± dks NksM+dj (tc og Í.kkRed Fkk) 
1949–50 ls 2015–16 rd dh laiw.kZ vofèk ds 
fy;s èkukRed FkkA

	67.	 igy (PAHAL) ;kstuk ds lanHkZ esa lgh mÙkj dk 
pquko djsa%

	 (1)	 ;g tke (JAM) dk izFke izdkj gSA

	 (2)	 ;g MhchVh (DBT) ds ekè;e ls ,yihth (LPG) 
vuqnku dks gLrkarj.k djrh gSA

	 (3)	 ;g miHkksDrkvksa ds cSad [kkrksa esa ,yihth vuqnku 
dk lhèkk gLrkarj.k djrh gSA

	 (4)	 ;s lHkh lR; gSaA

	68.	 1951–52 ls 2015–16 dh vofèk ds fdl o"kZ esa 
fLFkj dherksa ij Hkkjr dh izfr O;fDr vk; dh o`f¼ 
nj lokZfèkd jgh\

	 (1)	 2015–16	 (2)	 2010–11
	 (3)	 2007–08	 (4)	 2014–15

	69.	 jktLFkku Fkksd ewY; lwpdkad dk vkèkkj o"kZ gS%

	 (1)	 1986–87	 (2)	 1999–2000
	 (3)	 2004–05	 (4)	 2011–12

revenue for the Central Government in India :
	 I.	 Union Excise Duty	 II.	 Corporation Tax

	 III.	 Income Tax	 IV.	 Service Tax

	 	 Which one of the following is the correct 
descending order in terms of Gross Tax Revenue?

	 (1)	 I, II, IV, III	 (2)	 II, IV, I, III

	 (3)	 II, III, I, IV	 (4)	 IV, I, II, III

	 65.	 Since 1997-98, which statement is correct 
regarding Minimum Support Price (MSP)?

	 (1)	 MSP = C2 costs

	 (2)	 MSP > C2 costs

	 (3)	 MSP <C2 costs

	 (4)	 MSP is independent to C2 cost.

	 66.	 Which of the following statements is correct about 
the balance of trade of India?

	 (1)	 India's trade balance remained negative for 
the entire period from 1949-50 to 2015-16.

	 (2)	 India's trade balance remained positive for 
the entire period from 1949-50 to 2015-16.

	 (3)	 India's trade balance remained negative for 
the entire period from 1949-50 to 2015-16 
except two years 1972-73 and 1976-77, 
when it was positive.

	 (4)	 India's trade balance remained positive for 
the entire period from 1949-50 to 2015-16 
except two year 1972-73 and 1976-77, when 
it was negative.

	 67.	 Choose the correct answer in the context of PAHAL 
scheme :

	 (1)	 It is first variety of JAM.

	 (2)	 It transfers LPG subsidy via DBT.

	 (3)	 It directly transfers LPG subsidy into 
customer's bank accounts.

	 (4)	 All these are true.

	 68.	 In which year the rate of growth of India's per 
capita income at constant prices was the highest 
during the period 1951-52 to 2015-16?

	 (1)	 2015-16	 (2)	 2010-11

	 (3)	 2007-08	 (4)	 2014-15

	 69.	 The base year for Rajasthan's whole sale Price 
Index is :

	 (1)	 1986-87	 (2)	 1999-2000

	 (3)	 2004-05	 (4)	 2011-12

	 70.	 The growth targets in the 12th Five Year Plan of 
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	 70.	 jktLFkku dh 12oha iapo"khZ; ;kstuk esa Ñf"k] m|ksx ,oa 
lsok {ks=kksa ds fy;s o`f¼ ds y{; Øe'k% fuèkkZfjr gSaA

	 (1)	 3.5%, 8.0% vkSj 9.5%

	 (2)	 4.0%, 8.0% vkSj 9.0%

	 (3)	 4.0%, 8.5% vkSj 9.0%

	 (4)	 3.5%, 8.5% vkSj 9.5%

	 71.	 2011 dh tux.kuk ds vuqlkj fuEu esa dkSu ls dFku 
jktLFkku esa fyaxkuqikr (1000 iq#"kksa ij efgykvksa dh 
la[;k) ds ckjs esa lgh gSa\

	 (i)	 2011 esa jktLFkku esa fyaxkuqikr jk"Vªh; vkSlr ls 
de FkkA

	 (ii)	 2011 esa jktLFkku ds lHkh ftyksa esa fyaxkuqikr 
1000 ls de FkkA

	 (iii)	 2011 esa jktLFkku ds lHkh ftyksa ds xzkeh.k {ks=kksa 
esa (ikyh ftys ds vykok) fyaxkuqikr 1000 ls 
de FkkA

	 (iv)	 2011 esa jktLFkku ds lHkh ftyksa ds 'kgjh {ks=kksa 
esa (èkkSyiqj ftys ds vykok) fyaxkuqikr 1000 
ls de FkkA

	 	uhps fn;s x, owQVksa dk iz;ksx djds lgh mÙkj pqfu;s%

	 (1)	 dsoy (i) lgh gSA

	 (2)	 (i) rFkk (ii) lgh gSaA

	 (3)	 (i), (ii) rFkk (iii) lgh gSaA

	 (4)	 (i), (ii), (iii) rFkk (iv) lgh gSaA

	72.	 jktLFkku dh tkyhik&diwjMh rkih; fo|qr ifj;kstuk 
ds ckjs esa fuEu okD;ksa ij è;ku nhft;s%

	 I.	 ;g fo|qr ifj;kstuk fyXukbV vkèkkfjr gSA

	 II.	 ;g futh fodkld }kjk LFkkfir dh tk jgh gSA

	 	 mijksDr dFkuksa esa ls dkSu lk@ls lgh gS@gSa\

	 (1)	 I o II nksuksa lgh gSaA

	 (2)	 I o II nksuksa xyr gSaA

	 (3)	 dsoy dFku 1 lgh gSA

	 (4)	 dsoy dFku II lgh gSA

	73.	 fuEu esa ls dkSu&lh ckgjh laLFkk jktLFkku v{k; mQtkZ 
izlkj.k fuos'k dk;ZØe ds fy;s foÙkh; lgk;rk iznku 
dj jgh gS\

	 (1)	 fo'o cSad

	 (2)	 tkiku varjkZ"Vªh; lg;ksx laLFkk

	 (3)	 ,f'k;u fodkl cSad

	 (4)	 ds-,iQ-MCY;w- teZuh

Rajasthan for Agriculture, Industry and Service 
sectors are respectively

	 (1)	 3.5%, 8.0% and 9.5%

	 (2)	 4.0%, 8.0%and 9.0%

	 (3)	 4.0%, 8.5% and 9.0%

	 (4)	 3.5%, 8.5% and 9.5%

	 71.	 Which of the following statements are correct 
about sex ratio (number of females per 1000 males) 
in Rajasthan according to Census 2011?

	 (i)	 Sex ratio in Rajasthan in 2011 was less than 
National average.

	 (ii)	 Sex ratio in all Districts of Rajasthan in 2011 
was less than 1000.

	 (iii)	 Sex ratio in rural areas of all Districts of 
Rajasthan in 2011 was less than 1000, except 
Pali District.

	 (iv)	 Sex ratio in urban areas of all Districts of 
Rajasthan in 2011 was less than 1000, except 
Dhaulpur District.

	 	 Select the correct answer using codes given below:
	 (1)	 Only (i) is correct.

	 (2)	 (i) and (ii) are correct.

	 (3)	 (i), (ii) and (iii) are correct.

	 (4)	 (i), (ii), (iii) and (iv) are correct.

	 72.	 Consider the following statements about Jalipa-
Kapurdi thermal power project of Rajasthan?

	 I.	 This power project is lignite based.

	 II.	 It has been installed by private developer.

	 	 Which of the above statement is/are correct?
	 (1)	 Both I and II are correct.

	 (2)	 Both I and II are not correct.

	 (3)	 Only statement I is correct.

	 (4)	 Only statement II is correct.

	 73.	 Which of the following external agency is 
providing financial assistance for Rajasthan 
Renewable Energy Transmission Investment 
Program?

	 (1)	 World Bank

	 (2)	 Japan International Co-operation Agency 
(JICA)

	 (3)	 Asian Development Bank

	 (4)	 KFW Germany
	 74.	 'NAYA SAVERA' is
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	74.	 ^u;k losjk* gS
	 (1)	 MksMk iksLr ls iw.kZ u'kkeqfDr dk;ZØe
	 (2)	 rEckowQ ls iw.kZ u'kkeqfDr dk;ZØe
	 (3)	 'kjkc ls iw.kZ u'kkeqfDr dk;ZØe
	 (4)	 ;s lHkh

	75.	 eq[;ea=kh fu%'kqYd nok ;kstuk jktLFkku esa ykxw dh 
xbZ FkhA

	 (1)	 2 flracj] 2011 ls
	 (2)	 2 flracj] 2010 ls
	 (3)	 2 vDrwcj] 2011 ls
	 (4)	 2 vDrwcj] 2010 ls

	76.	 Hkkek'kkg ;kstuk dh eq[; fo'ks"krk,¡ gSa
	 (i)	 izR;sd ifjokj dks ifjokj dh efgyk eqf[k;k ds 

uke Hkkek'kkg dkMZ tkjh fd;k tkrk gSA
	 (ii)	 Hkkek'kkg dkMZ efgyk ds cSad [kkrs ls tksM+k 

tkrk gSA
	 (iii)	 fofHkUu udn ykHkksa dks ykHkkfFkZ;ksa ds cSad [kkrksa 

esa gLrkarfjr fd;k tk,xkA
	 (iv)	 lHkh xSj&udn ykHkksa dks Hkh ykHkkfFkZ;ksa ds cSad 

[kkrksa esa gLrkarfjr fd;k tk,xkA

	 	uhps fn;s x, owQVksa dk mi;ksx djds lgh mÙkj pqfu;s%
	 (1)	 dsoy (i) lgh gSA
	 (2)	 (i) rFkk (ii) lgh gSaA
	 (3)	 (i), (ii) rFkk (iii) lgh gSaA
	 (4)	 (i), (ii), (iii) rFkk (iv) lgh gSaA

	77.	 jktLFkku esa fØ;kfUor ml Ldhe dk uke crkb;s ftlds 
varxZr vuqlwfpr tkfr@tutkfr@fo'ks"k fiNM+k oxZ@vU; 
fiNM+k oxZ vkSj lkekU; tkfr ds ch-ih-,y] vH;FkhZ 
dks vf[ky Hkkjrh; flfoy lsok dh ijh{kk] jkT; dh 
flfoy lsok ijh{kk esa p;fur gksus rFkk vkbZ-vkbZ-Vh-] 
vkbZ-vkbZ-,e- ,oa jk"Vªh; Lrj ds esfMdy dkWyst esa 
vH;FkhZ ds izos'k gksus ij udn izksRlkgu fn;k tkrk gSA

	 (1)	 vuqizfr ;kstuk
	 (2)	 Nk=ko`fÙk Ldhe
	 (3)	 eSfjV de ehUl Ldhe
	 (4)	 mPp esfjV Nk=ko`fÙk

	78.	 jktLFkku esa xSj&ijEijkxr mQtkZ lzksr ls mQtkZ l`tu 
djus ds fy;s uksMy ,tsalh gS

	 (1)	 jktLFkku fjU;wvc~y ,uthZ dkWiksZjs'ku fy-
	 (2)	 LVsV fefuLVªh vkWiQ U;w fjU;wvc~y ,uthZA
	 (3)	 lsaVj iQkWj U;w ,.M fjU;wvc~y ,uthZ lkSlsZt
	 (4)	 buesa ls dksbZ ughaA

	79.	 jktLFkku esa fdrus ftyk m|ksx dsanz dk;Zjr gSa\
	 (1)	 36	 (2)	 33
	 (3)	 31	 (4)	 29

	 (1)	 a programme to de-addict all the Doda Post 
users

	 (2)	 a programme to de-addict all the tobacco 
users

	 (3)	 a programme to de-addict all the wine users
	 (4)	 All of these
	 75.	 Mukhya Mantri Nishulk Dava Yojana in Rajasthan 

was launched on
	 (1)	 2nd September, 2011
	 (2)	 2nd September, 2010
	 (3)	 2nd October, 2011
	 (4)	 2nd October, 2010
	 76.	 The main features of Bhamashah Yojana are
	 (i)	 Each family is issued Bhamashah card in 

the name of the female head of the family
	 (ii)	 Bhamashah card is linked to the bank 

account of the lady.
	 (iii)	 Multiple cash benefits will be transferred to 

the bank accounts of the beneficiaries.
	 (iv)	 All non-cash benefits will also be transferred 

to the bank accounts: of the beneficiaries.
	 	 Select correct answer using codes given below :
	 (1)	 Only (i) is correct.
	 (2)	 (i) and (ii) are correct.
	 (3)	 (i), (ii) and (iii) are correct
	 (4)	 (i), (ii), (iii) and (iv) are correct.
	 77.	 Name the scheme being implemented in Rajsthan 

under which cash incentive is given to SC/ST/SBC/
BPL of OBC & GEN candidate selected in the all 
india civil services Examination, the state civil 
services Examination and a candidate getting 
admission in IITs, IIMs and national level medical 
colleges.

	 (1)	 Anuparti Yojana
	 (2)	 Scholarship Scheme
	 (3)	 Merit-Cum-Means Scheme
	 (4)	 Upper merit Scholarship
	 78.	 Nodal agency for generation of energy from non-

conventional energy source in Rajasthan is.
	 (1)	 Rajasthan Renewable Energy corporation 

Ltd.
	 (2)	 State ministry of new renewable energy.
	 (3)	 Centre for new and renewable energy source.
	 (4)	 None of these
	 79.	 How many district Industries Centre are working 

in Rajasthan?
	 (1)	 36	 (2)	 33
	 (3)	 31	 (4)	 29
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	 80.	 jktLFkku esa dkSu&lk] eq[;ea=kh 'kqHky{eh ;kstuk dk 
mís'; ugha gS\

	 (1)	 ckfydk tUe dks izksRlkgu nsukA
	 (2)	 cky fookg dks jksdukA
	 (3)	 ckfydk tUe ds iathdj.k dks izksRlkgu nsukA
	 (4)	 xHkZorh ckfydkvksa dh lgk;rk djukA

	81.	 cS¯dx lksMk dk jklk;fud lw=k gS
	 (1)	 CaCO3	 (2)	 Ca(OH)2
	 (3)	 Na2CO3	 (4)	 NaHCO3

	 82.	 iQksVks oksYVh; lsy lacafèkr gS
	 (1)	 lkSj mQtkZ ls
	 (2)	 ukfHkdh; mQtkZ ls
	 (3)	 iou mQtkZ ls
	 (4)	 Hkwrkih; mQtkZ ls

	83.	 uohure ,s.MªkW;M pynwjHkk"k izpkyu i¼fr&6.0 dk 
uke gS

	 (1)	 fdVdsV	 (2)	 ek'kZeSyks
	 (3)	 ykWyhikWi	 (4)	 tsyh chu

	84.	 mPp xfr xzkeh.k czkWMcSaM usVooZQ ls tqM+us okyk Hkkjr 
dk izFke f”kyk dkSu&lk gS\

	 (1)	 dukZVd dk csaxyq: f”kyk
	 (2)	 eè; izns'k dk fofn'kk f”kyk
	 (3)	 dsjy dk bMqDdh f”kyk
	 (4)	 egkjk"Vª dk iq.ks f”kyk

	85.	j{kk vuqlaèkku fodkl laxBu (MhvkjMhvks) us 
^yqdksfLdu* (Lukoskin) uked ,d vkS"kfèk fodflr 
dh gSA bldk bLrseky ---------- ds mipkj esa fd;k tk 
jgk gSA

	 (1)	 Y;wdsfe;k	 (2)	 Y;wdksMekZ
	 (3)	 isQiQM+ksa dk dSalj	 (4)	 Y;wdksfj;k

	86.	 fuEufyf[kr tksM+s lqesfyr djsa%
	 	iz{ksi.k ;ku		 lSVsykbV
	 (i)	 mixzg iz{ksi.k ;ku&3	 A.	 panz;ku&1
	 	(SLV-3)
	 (ii)	 laofèkZr mixzg iz{ksi.k	 B.	 jksfg.kh
	 	;ku (ASLV)
	 (iii)	 èkzqoh; mixzg iz{ksi.k	 C.	 SROSS-C
		  ;ku (PSLV)
	 (iv)	 Hkwledkfyd mixzg	 D.	 EDUSAT
	 	iz{ksi.k ;ku (GSLV)

	 	fuEufyf[kr esa ls dkSu ls dwV lqesfyr gSa\

		 owQV%
		  (i)	 (ii)	 (iii)	 (iv)
	 (1)	 B	 C	 A	 D
	 (2)	 A	 B	 C	 D
	 (3)	 C	 A	 B	 D
	 (4)	 B	 C	 D	 A

	 80.	 One of the following is not the objective of chief 
minister's Shubh Laxmi yojana in Rajasthan:

	 (1)	 To promote the birth of girl child
	 (2)	 To provent child marriage
	 (3)	 To encourage registration of girl child birth
	 (4)	 To help pregnant girls
	 81.	 The chemical formula of baking soda is
	 (1)	 Caco3	 (2)	 Ca(OH)2

	 (3)	 Na2CO3	 (4)	 NaHCO3

	 82.	 Photovoltaic cell is related to
	 (1)	 Solar Energy
	 (2)	 Nuclear Energy
	 (3)	 Wind Energy
	 (4)	 Geo Thermal Energy
	 83.	 The latest android mobile operating system-6.0 is 

named as
	 (1)	 Kitkat	 (2)	 Marshmallow
	 (3)	 Lollipop	 (4)	 Jelly Bean
	 84.	 Which district has become the first one in India to 

get connected to the High Speed Rural Broadband 
Network?

	 (1)	 Bengaluru District of Karnataka
	 (2)	 Vidisha District of Madhya Pradesh
	 (3)	 Idukki District of Kerala
	 (4)	 Pune District of Maharashtra
	 85.	 The Defence Research Development Organisation 

(DRDO) has developed a drug named, Lukoskin'. 
It is being used in the treatment of _______.

	 (1)	 Leukemia	 (2)	 Leucoderma
	 (3)	 Lung Cancer	 (4)	 Leukorrhea
	 86.	 Match the above pairs:
		  Launch Vehicle		  Satellite
	 (i)	 Satellite Launch	 A.	 Chandrayaan-1
	 	 Vehicle-3 (SLV-3)
	 (ii)	 Augmented Satellite	 B.	 Rohini
	 	 Launch Vehicle (ASLV)
	 (iii)	 Polar Satellite	 C.	 SROSS-C
	 	 Launch Vehicle (PSLV)
	 (iv)	 Geosynchronous	 D.	 EDUSAT
	 	 Satellite Launch
	 	 Vehicle (GSLV)
	 	 Which of the following codes are correctly 

matched?
		  Codes :
		  (i)	 (ii)	 (iii)	 (iv)
	 (1)	 B	 C	 A	 D
	 (2)	 A	 B	 C	 D
	 (3)	 C	 A	 B	 D
	 (4)	 B	 C	 D	 A
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	87.	 fuEufyf[kr esa ls dkSu&lh ,d Hkkjrh; ukSlsuk dh 
ukfHkdh; mQtkZ }kjk lapkfyr iuMqCch gS\

	 (1)	 vkbZ ,u ,l f'k'kqekj

	 (2)	 vkbZ ,u ,l 'kYdh

	 (3)	 vkbZ ,u ,l pØ

	 (4)	 vkbZ ,u ,l flaèkqohj

	88.	 fuEufyf[kr esa ls Hkkjrh; ok;q lsuk dk dkSu&lk foeku 
gok ls gok esa iqu% b±èku Hkjus dk dk;Z djrk gS\

	 (1)	 lh&17 XykscekLVj III
	 (2)	 bY;wf'ku&11&76
	 (3)	 bY;wf'ku&11&78
	 (4)	 lh&130 ts lqij gjD;wfyl

	89.	 fuEufyf[kr esa ls dkSu ls dFku lR; gSa\

	 A.	 xUus ds jl dks fdf.aor djus ij fljdk curk gSA

	 B.	 fljds esa ,slhfVd vEy mifLFkr gksrk gSA

	 C.	 fljds esa mifLFkr vEy] csatksbd vEy gksrk gSA

	 D.	 fljdk ,d ifjj{kd ds :i ea iz;qDr gksrk gSA

	 (1)	 A, C, D	 (2)	 A, B, D
	 (3)	 A, B, C	 (4)	 B, C, D

	90.	 uSuks rduhd ds fuEufyf[kr mRiknksa@mnkgj.kksa dks uSuks 
rduhd dh pkj ihf<+;ksa ds c<+rs Øe esa O;ofLFkr 
dhft;s [I → IV] ,oa fn;s x, dwVksa dh lgk;rk ls 
lgh mÙkj dk p;u dhft;s %

	 A.	 ,;jkslksy
	 B.	 3-Mh usVo²dx

	 C.	 vkf.od fofuekZ.k

	 D.	 yf{kr nok,¡

		 owQV%

	 (1)	 A, B, C, D	 (2)	 D, A, B, C
	 (3)	 A, D, B, C	 (3)	 D, A, C, B

	91.	fuEufyf[kr esa ls dkSu&lk ,YiQk&fyuksysfud vEy (18 
dkcZu ;qDr vksesxk&3 iQSVh vEy) dk loksZÙke lzksr gS\

	 (1)	ewax	 (2)	eksB
	 (3)	vylh	 (4)	tbZ

	92.	 fuEufyf[kr dFkuksa ij fopkj dhft;s ,oa fn;s x;s dwVksa 
dh lgk;rk ls lgh dFkuksa dk p;u dhft;s%

	 A.	 loZizFke O;kolk;hdj.k fd;s tkus okyk] 
vkuqoaf'kd :i ls vfHk;kaf=kd Ñr iQly mRikn] 
Ýysoj&lsoj VekVj FkkA

	 B.	 Ýysoj&lsoj ds ids gq, iQy vfèkd vofèk ds 
fy;s n`<+ jgrs gSa ,oa ikSèks ij idus ds ckn cktkj 
esa LFkkukarfjr fd;s tk ldrs gSaA

	 87.	 Which among the following is a nuclear powered 
submarine of Indian Navy?

	 (1)	 INS Shishumar
	 (2)	 INS Shalki
	 (3)	 INS Chakra
	 (4)	 INS Sindhuvir
	 88.	 Which of the following aircraft is an air-to-air 

refueller of the Indian Air Force?
	 (1)	 C-17 Globemaster III
	 (2)	 Ilyushin II-76
	 (3)	 Ilyushin II-78
	 (4)	 C-130 J Super Hercules
	 89.	 Which of the following statements are correct?
	 A.	 Sugarcane juice is fermented to form 

vinegar.
	 B.	 Vinegar has acetic acid.
	 C.	 Benzoic acid is the acid present in Vinegar.
	 D.	 Vinegar is used as a preservative.
	 (1)	 A, C, D	 (2)	 A, B, D
	 (3)	 A, B,C	 (4)	 B, C, D
	 90.	 Arrange the following products/examples of 

nanotechnology in ascending order of the four 
generations of nanotechnology [I → IV] and select 
the correct answer using the codes given below:

	 A.	 Aerosol
	 B.	 3D networking
	 C.	 Molecular manufacturing
	 D.	 Targeted drugs
		  Codes :
	 (1)	 A, B, C, D	 (2)	 D, A, B,C
	 (3)	 A, D, B, C	 (4)	 D, A, C, B
	 91.	 Which among the following is the richest source 

of alpha-linolenic acid (18-carbon omega-3 fatty 
acid)?

	 (1)	 Mung bean	 (2)	 Moth bean
	 (3)	 Flaxseed	 (4)	 Oats
	 92.	 Consider the following statements and choose the 

correct ones using the codes given below :
	 A.	 The flavr-savr tamato was the first genetically 

e n g i n e e r e d  c r o p  p r o du c t  t o  b e 
commercialised.

	 B.	 Ripe fruits of flavr-savr remain firm for 
longer duration and can be transported to 
market after vine-ripening.
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	 C.	 Ýysoj&lsoj ds ids gq, iQyksa esa jax gksrk gS fdarq 
ikSèkksa ij ids iQyksa tSls iw.kZ lq#fpd lj.kh dk 
vHkko gksrk gSA

	 	owQV%
	 (1)	 A ,oa B	 (2)	 B ,oa C
	 (3)	 A ,oa C	 (4)	 A, B ,oa C

	93.	gjs iQyksa dks Ñf=ke :i ls idkus ds fy;s dSfYl;e 
dkckZbM dk iz;ksx fd;k tkrk gS] D;ksafd ;g mRiUu 
djrk gS %

	 (1)	,lhfVyhu	 (2)	feFkkbZyhu
	 (3)	Ýyksfjtu	 (4)	vkWfDltu

	94.	dkcZu MkbvkWDlkbM (CO2), ukbVªl vkWDlkbM (N2O), 
DyksjksÝyqjksdkcZul~ (CFCs) vkSj ehFksu (CH4) xSlksa dk 
Xykscy okfe±x ds izfr vkisf{kd ;ksxnku gS%

	 (1)	CO2 > CFCs > CH4 > N2O
	 (2)	CO2 > CH4 > CFCs > N2O
	 (3)	CO2 > CH4 > N2O > CFCs
	 (4)	CO2 > N2O > CH4 > CFCs

	95.	 ,d O;Ld nSfgd dksf'kdk ls Dyksu dh xbZ igyh 
Lruik;h] MkWyh (HksM+) ds ckjs esa dkSu&lk rF; lgh 
ugha gS\

	 (1)	 MkWyh o"kZ 1998 esa iSnk gqbZ FkhA
	 (2)	 MkWyh dh e`R;q 2003 esa gqbZ FkhA
	 (3)	 MkWyh LdkWVySaM esa iSnk gqbZ FkhA

	 (4)	 iQsiQM+ksa dh chekjh ds dkj.k MkWyh dk fuèku 
gqvk FkkA

	96.	 Hkkjr esa LFkkfir igyk jk"Vªh; m|ku gS
	 (1)	 dkthjaxk jk"Vªh; m|ku

	 (2)	 fte dkWjcsV jk"Vªh; m|ku

	 (3)	 fxj jk"Vªh; m|ku
	 (4)	 dkUgk jk"Vªh; m|ku

	97.	 i'kqvksa] fo'ks"kr% nqèkk:&xks] ds vuqiwjd Hkkstu ds :i 
esa iz;qDr tSo&moZjd gS%

	 (1)	 vtksVkscSDVj	 (2)	 v”kksLikbjhfy;e

	 (3)	 jkbZ”kksfc;e	 (4)	 v”kksyk

	98.	 dsanzh; 'kq"d ckxokuh laLFkku fLFkr gS%

	 (1)	 chdkusj esa	 (2)	 Jh xaxkuxj esa
	 (3)	 tksèkiqj esa	 (4)	 mn;iqj eas

	99.	 fuEu esa ls fdl chekjh ds fy;s VªkbosysaV ds LFkku ij 
ckbZosysaV vks-vkj-oh- nsus dk fu.kZ; Hkkjr ljdkj us 
fy;k gS\

	 (1)	 Vk;iQkWbM	 (2)	 fMIFkhfj;k
	 (3)	 iksfy;ks	 (4)	 eysfj;k

	 C.	 Ripe fruits of flavr-savr have colour but not 
the full array of vine ripened-tomato 
flavours.

		  Codes :
	 (1)	 A and B	 (2)	 B and C

	 (3)	 A and C	 (4)	 A, B and C

	 93.	 Calcium carbide is used for artificial ripening of 
green fruits because it produces

	 (1)	 Acetylene	 (2)	 Methylene

	 (3)	 Florigen	 (4)	 Auxin

	 94.	 The relative contributions of carbon dioxide (CO2), 
nitrous oxide (N2O), chlorofluorocarbons (CFCs) 
and methane (CH4) towards global warming are.

	 (1)	 CO2 > CFCs > CH4 > N2O

	 (2)	 CO2 > CH4 > CFCs > N2O

	 (3)	 CO2 > CH4 > N2O > CFCs

	 (4)	 CO2 > N2O > CH4 > CFCs

	 95.	 Which of the facts about Dolly (sheep), the first 
mammal cloned form an adult somatic cell is not 
correct?

	 (1)	 Dolly was born in the year 1998.

	 (2)	 Dolly died in the year 2003.

	 (3)	 Dolly was borm at Scotland.

	 (4)	 Dolly died due to lung disease.

	 96.	 First National Park established in India is
	 (1)	 Kaziranga National Park

	 (2)	 Jim Corbett National Park

	 (3)	 Gir National Park

	 (4)	 Kanha National Park

	 97.	 The bio-fertilizer used as a supplementary food for 
the cattle, especially for milking bovines is

	 (1)	 Azotobacter	 (2)	 Azospirillum

	 (3)	 Rhizobium	 (4)	 Azolla

	 98.	 The Central Institute of Arid Horticulture is 
situated at

	 (1)	 Bikaner	 (2)	 Sri Ganganagar

	 (3)	 Jodhpur	 (4)	 Udaipur

	 99.	 Against which of the following diseases has 
Government of India decided to give Bivalent ORV 
in place of Trivalent?

	 (1)	 Typhoid	 (2)	 Diptheria

	 (3)	 Polio	 (4)	 Malaria
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	100.	 foKku ,oa izkS|ksfxdh dks jkT; eas yksdfiz; cukus ds 
fy;s ljdkj us jktLFkku esa foKku dsanz vkSj foKku ikoZQ 
LFkkfir fd;s gSaA mu lgh LFkkuksa dks igpkus tgk¡ ij 
foKku ikoZQ vc rd LFkkfir fd;s x;s gSa %

	 (1)	 t;iqj] tksèkiqj] dksVk
	 (2)	 t;iqj] chdkusj] >kyjkikVu (>kykokM+)
	 (3)	 t;iqj] uoyx<+] >kyjkikVu (>kykokM+)
	 (4)	 t;iqj] uoyx<+] dksVk

	101.	 bl iz'u esa ,d dFku ds lkFk nks ifjdYiuk,¡ nh 
xbZ gSaA

	 	dFku % dfBu ifjJeh O;fDr ds fy;s igq¡p ls ckgj 
dqN Hkh ugha gSA

	 ifjdYiuk %	I.	,d dfBu ifjJeh O;fDr lc dqN 
izkIr dj ldrk gSA

	 	 II.	tks dfBu ifjJe ugha djrs] oks dqN 
Hkh izkIr ugha dj ldrsA

	 	rc] dkSu lk mÙkj lgh gS\
	 (1)	 dsoy I dFku esa varfuZfgr gSA
	 (2)	 dsoy II dFku eas varfuZfgr gSA
	 (3)	 nksuksa I vkSj II dFku esa varfuZfgr gSaA
	 (4)	 uk rks I uk gh II dFku esa varfuZfgr gSA

	102.	 fuEu dFku ds lkFk nks roZQ I rFkk II fn;s x;s gSa] r; 
djsa fd dkSu lk roZQ e”kcwr gS vkSj dkSu lk de”kksjA 
mÙkj nhft;s %

	 	dFku % okgu pykrs le; D;k eksckby iQksu ds mi;ksx 
ij izfrcaèk gksuk pkfg;s\

	 roZQ %	I.	 gk¡] ”;knkrj le; ;g nq?kZVuk dk dkj.k 
curk gSA

	 	 II.	 ugha] eksckby mi;ksx djus okyksa ds fy;s 
vkikr fLFkfr esa leL;k gks tk,xhA

	 (1)	 dsoy rdZ I e”kcwr gSA
	 (2)	 dsoy rdZ II e”kcwr gSA
	 (3)	 nksuksa I vkSj II rdZ e”kcwr gSaA
	 (4)	 uk rks I uk gh rdZ II e”kcwr gSA

	103.	dFku %	 1-	 lHkh iQy] isM+ gSaA

	 		 2-	 dksbZ iQwy] isM+ ugha gSA

	 	fu"d"kZ %	 I.	 dksbZ iwQy] iQy ugha gSA

	 		 II.	 dqN isM+] iQy gSaA
	 (1)	 dsoy fu"d"kZ I vuqlj.k djrk gSA
	 (2)	 dsoy fu"d"kZ II vuqlj.k djrk gSA
	 (3)	 u rks fu"d"kZ I u gh II vuqlj.k djrk gSA
	 (4)	 nksuksa gh fu"d"kZ I rFkk II vuqlj.k djrs gSaA

	100.	 For popularisation of Science & Technology in the 
State, the Government has established Science 
Centres and Science Parks in Rajasthan, Identify 
the correct places where Science Parks have been 
established so far :

	 (1)	 Jaipur, Jodhpur, Kota
	 (2)	 Jaipur, Bikaner, Jhalarapatan (Jhalawar)
	 (3)	 Jaipur, Nawalgarh, Jhalarapatan (Jhalawar)
	 (4)	 Jaipur, Nawalgarh, Kota
	101.	 In this question, a statement is followed by two 

assumptions:
		  Statement : Nothing is beyond the reach of a hard 

working person.
	 Assumptions:	 I.	 A hard working person can 

achieve everything.
	 	 II.	 Those who do not work hard 

cannot achieve anything.
	 	 Then which of the answer is correct?
	 (1)	 Only I is implied in the statement.
	 (2)	 Only II is implied in the statement.
	 (3)	 Both I and II are implied in the statement.
	 (4)	 Neither I nor II is implied in the statement.
	102.	 The statement below is followed by two arguments 

numbered I and II. Decide which of the arguments 
is a strong argument and which is a weak argument. 
Give answer.

		  Statement : Should use of mobile phone be banned 
while driving?

	 Arguments:	 I.	 Yes, most of the time it causes 
accident

	 	 II.	 No, this can create a major 
problem for mobile users. in 
emergency.

	 (1)	 Only argument I is strong.
	 (2)	 Only argument II is strong.
	 (3)	 Both I and II are strong.
	 (4)	 Neither I nor II is strong.
	103.	 Statements :	 1.	 All fruits are trees.
	 	 	 2.	 No flower is tree.
		  Conclusions :	 I.	 No flower is fruit.
	 	 	 II.	 Some trees are fruits.
	 (1)	 Only conclusion I follows.
	 (2)	 Only conclusion II follows.
	 (3)	 Neither conclusion I nor II follows.
	 (4)	 Both conclusions I and II follow.
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	104.	 fuEu dk mÙkj nhft;s %

	 	dFku % ;fn og cqf¼eku gS] rks og usV ijh{kk mÙkh.kZ 
djsxkA

	 ekU;rk %	I.	 usV ijh{kk esa mÙkh.kZ gksus ds fy;s mls 
cqf¼eku gksuk pkfg;sA

	 	 II.	 og usV ijh{kk esa mÙkh.kZ gksxkA
	 (1)	 u rks I vkSj u gh II varfuZfgr gSA
	 (2)	 dsoy ekU;rk II varfuZfgr gSA
	 (3)	 ;k rks I ;k II varfuZfgr gSaA
	 (4)	 nksuksa I rFkk II varfuZfgr gSA

	105.	 nh xbZ vkd`fr esa f=kHkqtksa dh dqy la[;k gS %

	 (1)	 21	 (2)	 23
	 (3)	 25	 (4)	 27

	106.	 vuqØe 1039] 2247] 3455] 4663]-------- dk vxyk 
in gS %

	 (1)	 5772	 (2)	 5871
	 (3)	 5782	 (4)	 5881

	107.	 uhps fn;s x;s vuqØe esa vkxs dk in gS %

	 	7Y, 26V, 63R, 124 M,........
	 (1)	 216G	 (2)	 216H
	 (3)	 215G	 (4)	 215H

	108.	 vlaxr Nk¡fV, %
	 (1)	 Cat	 (2)	 Cow
	 (3)	 Goat	 (4)	 Pig

	109.	 ;fn “GYPSUM” dks dwV ladsr esa “MGSPYU” 
fy[kk tkrk gS] “FATHER” dks dwV ladsr esa 
“RFHTAE” fy[kk tkrk gS] rks “BEYOND” dks dwV 
ladsr esa fy[kk tk,xk&

	 (1)	 DBYOEN	 (2)	 NDEYBO
	 (3)	 DBOEYN	 (3)	 DBOYEN

	110.	 A, B, C, D, E vkSj F ,d ifjokj ds 6 lnL; gSaA iq#"kksa 
dh la[;k fL=k;ksa dh la[;k ds cjkcj gSA ifjokj esa ,d 
ifr&iRuh dh tksM+h gSA A vkSj E, F ds iq=k gSa] rFkk A 
cM+k gSA D nks cPpksa dh ekrk gS (,d iq=k gS vkSj ,d 
iq=khA) A dk iq=k B gSA rc E dh Hkrhth gS%

	 (1)	 C	 (2)	 D
	 (3)	 F	 (4)	 A

	104.	 Answer the following:
		  Statement : If he is intelligent, he will pass the 

NET examination.
	 Assumptions :	I.	 To pass, the NET examination 

he must be intelligent.
	 	 II.	 He  w i l l  p a s s  t h e  NET 

examination.
	 (1)	 Neither I nor II is implicit.
	 (2)	 Only Assumption II is implicit.
	 (3)	 Either I or II is implicit.
	 (4)	 Both I and II are implicit.
	105.	 In the given figure, total number of triangles are

	 (1)	 21	 (2)	 23
	 (2)	 25	 (4)	 27
	106.	 Next term of the sequence 1039, 2247, 

3455,4663,....... is
	 (1)	 5772	 (2)	 5871
	 (3)	 5782	 (4)	 5881
	107.	 The next term in the given sequence
	 	 7Y, 26V, 63R, 124M,......., is
	 (1)	 216G	 (2)	 216H
	 (3)	 215G	 (4)	 215H
	108.	 Pick out the odd one
	 (1)	 Cat	 (2)	 Cow
	 (3)	 Goat	 (4)	 Pig
	109.	 If "GYPSUM" is coded as "MGSPYU", "FATHER" 

is coded as "RFHTAE", then “BEYOND" will be 
coded as

	 (1)	 DBYOEN	 (2)	 NDEYBO
	 (3)	 DBOEYN	 (4)	 DBOYEN
	110.	 A, B, C, D, E and F are 6 members of a family. 

Number of males is equal to number of females, 
Family has one pair of husband-wife. A and E are 
sons of F, and A is elder. Dis mother of two children 
(one is boy and other is girl). B is son of A. Then 
the niece of E is

	 (1)	 C	 (2)	 D
	 (3)	 F	 (4)	 A
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	111.	 iz'u esa fn;s x;s fp=k dks (X) ls fpÉr fd;k gSA blds 
i'pkr~ fn;s x;s pkj oSdfYid fp=kksa dks (A), (B), (C) 
rFkk (D) ls fpfÉr fd;k x;k gSA og fp=k tks (X) esa 
iw.kZr;k lekfgr gksdj ,d oxZ dk fuekZ.k djs] gS%

	 	 (X)

		  (A) (B) (C) (D)

	 (1)	 (D)	 (2)	 (B)

	 (3)	 (C)	 (4)	 (A)

	112.	 ,d 60 yhVj ds feJ.k esa nwèk rFkk ikuh dk vuqikr 
5 % 3 gSA ;fn bldk vuqikr 1 % 2 djuk gks] rks 
feJ.k esa feyk;s tkus okys ikuh dh ek=kk gksxh %

	 (1)	 17-5 yhVj	 (2)	 22-5 yhVj

	 (3)	 58-5 yhVj	 (4)	 52-5 yhVj

	113.	 nh xbZ lkj.kh esa NwVh la[;k gS %

5 4 3
10 8 6
13 12 \

	 (1)	 5	 (2)	 7

	 (3)	 9	 (4)	 14

	114.	 xq.ku (541 × 769 × 357) esa bdkbZ dk vad D;k gS\

	 (1)	 7	 (2)	 5

	 (3)	 3	 (4)	 1

	115.	 200 cYcksa dks 4 ?kaVs izfrfnu tyk;k tkrk gS vkSj 
bldk 6 fnu dk [kpZ ` 40 gSA rks fdrus cYc 3 ?kaVs 
izfrfnu tyk;s tkus pkfg;s rkfd 15 fnu dk [kpZ ` 

48 gks\

	 (1)	 72	 (2)	 800

	 (3)	 128	 (4)	 90

	116.	 nks fo|kFkhZ X vkSj Y ,d ijh{kk esa lfEefyr gq,A X 
us Y ds vadksa ls 9 vad ”;knk izkIr fd;s rFkk X ds 
vad nksuksa fo|kfFkZ;ksa ds vadksa ds tksM+ dk 56% FksA 
X rFkk Y }kjk izkIr vad Øe'k% gSa%

	 (1)	 39] 30	 (2)	 41] 32

	 (3)	 42] 33	 (4)	 43] 34

	111.	 In the question a key figure marked (X) is given, 
followed by four other alternative figures marked 
(A), (B), (C) and (D) the figure which fits exactly 
into figure (X) to form a complete square, is

	 	 (X)

		  (A) (B) (C) (D)
	 (1)	 D	 (2)	 B

	 (3)	 C	 (4)	 D

	112.	 In a mixture of 60 litres, the ratio of milk and water 
is 5 : 3. In order to make this ratio 1 : 2, the quantity 
of water to be added to the mixture is

	 (1)	 17.5 litres	 (2)	 22.5 litres

	 (3)	 58.5 litres	 (4)	 52.5 litres

	113.	 The missing number in the given table is
5 4 3
10 8 6
13 12 ?

	 (1)	 5	 (2)	 7

	 (3)	 9	 (4)	 14

	114.	 Which is the digit at unit place of the Product 
(541 × 769 × 357)?

	 (1)	 7	 (2)	 5

	 (3)	 3	 (4)	 1

	115.	 200 bulbs are used 4 hours per day and expenditure 
of 6 days is ₹ 40. Then how many bulbs should be 
used 3 hours per day so that expenditure of 15 days 
is ₹ 48?

	 (1)	 72	 (2)	 800

	 (3)	 128	 (4)	 90

	116.	 Two students X and Y appeared at an examination. 
X secured 9 marks more than marks of Y and marks 
of X was 56% of the sum of their marks. The marks 
obtained by X and Y are respectively

	 (1)	 39, 30	 (2)	 41, 32

	 (3)	 42, 33	 (4)	 43, 34
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	117.	 leku okf"kZd C;kt nj ls ` 15]000 dk 2 lky ds 

pØo`f¼ (okf"kZd) C;kt o ljy C;kt dk varj ` 

96 gSA rks okf"kZd C;kt nj gS %

	 (1)	 8%	 (2)	 10%

	 (3)	 12%	 (4)	 7%

	118.	 ,d firk us Øe'k% 17 ls 18 o"kZ dh vk;q ds vius 

nks iq=kksa ds fy;s nks lkofèk tekvksa esa ` 16]400 dks 

bl izdkj ck¡Vk fd nksuksa dh 20 o"kZ dh vk;q gksus ij 

mUgsa leku èkujkf'k feysA ;fn pØo`f¼ C;kt dh nj 

5% okf"kZd (okf"kZd x.kuk) gks] rks NksVs iq=k ds fy;s 

fdruh èkujkf'k tek djsxk\

	 (1)	 ` 8,000	 (2)	 ` 8,200

	 (3)	 ` 8,400	 (4)	 ` 10,000

	 	iz'u la[;k 119 rFkk 120 ds fy;s %

	 	fuEu lkj.kh ,oa ikbZ vkys[k dk voyksdu dhft;s %

Hkkjr ds okgu fu;kZr

(g”kkjksa esa)

izdkj 2010-11 2011-12 2012-13 2013-14

nks ifg;k 1250 1317 1423 1320

rhu ifg;k 433 467 561 516

dkjsa 716 813 795 721

,y ,e oh 823 756 826 803

,y lh oh 1012 983 1058 968

,p lh oh 913 1003 1101 1063

	 	Hkkjr ls fofHkUu {ks=kksa esa nks ifg;k okgu fu;kZr ds fgLls

	 2010-2011		 	 2013-2014

USA

65º
EU

75º
Others

CS
50º

SA
75º

USA
105º

EU

45º
Others

120º
CS

SA
60º

	 	fuEu iz'uksa (119 vkSj 120) ds mÙkj fyf[k;s %

	119.	 ,plhoh ds vfrfjDr vU; okguksa ds o"kZ 2010&11 
dh rqyuk esa 2013&14 esa fdrus izfr'kr dk ifjorZu 

vk;k gS\

	 (1)	 2-22% o`f¼	 (2)	 2-22% deh

	 (3)	 3-22% o`f¼	 (4)	 3-22% deh

	117.	 The difference of compound interest (annually) 
and simple interest. on an amount of ₹ 15,000 for 
2 years on the same rate of interest is ₹96. The rate 
of interest per annum is

	 (1)	 8%	 (1)	 10%

	 (1)	 12%	 (1)	 7%

	118.	 A father distributes ₹ 16,400 into two fixed deposits 
for his two sons of age 17 and 18 years respectively, 
such that at their age of 20 years, both get the same 
amount. If rate of compound interest is 5% per 
annum (compounded annually), then how much 
amount the father deposits for his younger son?

	 (1)	 ₹8,000	 (2)	 ₹8,200

	 (3)	 ₹8,400	 (4)	 ₹10,000

	 	 Refer the following table and pie-graphs for 
Question Nos. 119 and 120.

Automobile Exports from India
(in thousands)

Type 2010-11 2011-12 2012-13 2013-14
Two 

Wheelers
1250 1317 1423 1320

Three 
Wheelers

433 467 561 516

Cars 716 813 795 721
LMVs 823 756 826 803
LCVs 1012 983 1058 968
HCVs 913 1003 1101 1063

	 	 Share of various regions in two wheeler exports 
from India

	 2010-2011		 	 2013-2014

USA

65º
EU

75º
Others

CS
50º

SA
75º

USA
105º

EU

45º
Others

120º
CS

SA
60º

	 	 Answer the following questions (119 and 120)
	119.	 What is the percentage change in export of 

automobiles excluding HCVs in 2013-14 as 
compared to 2010-11?

	 (1)	 2.22% increase	 (2)	 2.22% decrease

	 (3)	 3.22% increase	 (4)	 3.22% decrease
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	120.	 2010&11 dh rqyuk esa 2013&14 esa fdrus ”;knk nks 
ifg;k okgu (fudVre g”kkjksa esa) EU dks fu;kZr 
fd;s x,\

	 (1)	 129	 (2)	 131

	 (3)	 134	 (4)	 176

	121.	 iQjojh 2016 esa vk;ksftr gq, 12osa nf{k.k ,f'k;kbZ 
[ksyksa esa Hkkjr us fdrus Lo.kZ ind thrs\

	 (1)	 200	 (2)	 188

	 (3)	 156	 (4)	 96

	122.	 ;wukbVsM fdaxMe dks ;wjksih; la?k ls vyx djus ds 
fy;s vkanksyu dk usr`Ro fuEufyf[kr esa ls fdlus fd;k\

	 (1)	 cksfjl tksUlu

	 (2)	 ekoZQ dkuhZ

	 (3)	 tkWtZ vksLcksuZ

	 (4)	 t;k¡&Dykans twudj

	123.	 o"kZ 2015&16 esa j.kth VªkWiQh izfr;ksfxrk dh fotsrk 
eqEcbZ fØdsV Vhe ds dIrku dkSu Fks\

	 (1)	 lw;Z dqekj ;kno	 (2)	 Js;l vÕ;j

	 (3)	 jksfgr 'kekZ	 (4)	 vkfnR; rkjs

	124.	 Hkkjr dk dkSu lk Hkkjrh; jkT; igyk ^fMftVy jkT;* 
?kksf"kr fd;k x;k gS\

	 (1)	 dukZVd	 (2)	 dsjy

	 (3)	 egkjk"Vª	 (4)	 xksok

	125.	 Hkkjr ds dqy Hkw&Hkkx dk fdruk izfr'kr {ks=k jktLFkku 
esa gS\

	 (1)	 10-4%	 (2)	 7-9%

	 (3)	 13-3%	 (4)	 11-4%

	126.	 Hkkjr ds Fkkj e#LFky dk fdruk Hkkx jktLFkku esa gS\

	 (1)	 40%	 (2)	 60%

	 (3)	 80%	 (4)	 90%

	127.	 fdl ns'k us gky gh esa izèkkuea=kh ujsUnz eksnh dks viuk 
loksZPp ukxfjd lEeku ̂ vehj vekuqYykg [kku* iqjLdkj 
iznku fd;k gS\

	 (1)	 lmQnh vjc	 (2)	 mTcsfdLrku

	 (3)	 bZjku	 (4)	 viQxkfuLrku

	128.	 ml LFkku dk uke igpkfu;s] tgk¡ 31 vDrwcj] 2015 
dks jktLFkku dh eq[;ea=kh us igys “vUuiw.kkZ HkaMkj” 
dk mn~?kkVu fd;k Fkk\

	 (1)	 pkSew	 (2)	 HkaHkkSjh

	 (3)	 iQkxh	 (4)	 dksViwryh

	120.	 How many more two wheelers (in nearest 
thousands) were exported to EU in 2013-14 as 
compared to 2010-11?

	 (1)	 129	 (2)	 131

	 (3)	 134	 (4)	 176

	121.	 How many Gold Medals won by India in the 12th 
South Asian Games held in February 2016?

	 (1)	 200	 (2)	 188

	 (3)	 156	 (4)	 96

	122.	 Who among the following led the movement for 
withdrawing United Kingdom from the European 
Union?

	 (1)	 Boris Johnson

	 (2)	 Mark Camey

	 (3)	 George Osborne

	 (4)	 Jean-Clande Junker

	123.	 Who captained the Mumbai Cricket team, which 
won the Ranji Trophy Tournament 2015-16?

	 (1)	 Surya Kumar Yadav	(2)	 Shreyas Iyer

	 (3)	 Rohit Sharma	 (4)	 Aditya Tare

	124.	 Which Indian State has been declared as the first 
'Digital State' of India?

	 (1)	 Karnataka	 (2)	 Kerala

	 (3)	 Maharashtra	 (4)	 Goa

	125.	 How much percentage of the total land mass area 
of India is in Rajasthan?

	 (1)	 10.4%	 (2)	 7.9%

	 (3)	 13.3%	 (4)	 11.4%

	126.	 How much of Thar Desert in India falls in 
Rajasthan?

	 (1)	 40%	 (2)	 60%

	 (3)	 80%	 (4)	 90%

	127.	 Which country recently conferred its highest 
civilian honour 'Amir Amanullah Khan Award' to 
Prime Minister Narendra Modi?

	 (1)	 Saudi Arabia	 (2)	 Uzbekistan

	 (3)	 Iran	 (4)	 Afghanistan

	128.	 Identify the place, where the first "Annupurna 
Bhandar" was inaugurated by the Chief Minister 
of Rajasthan on 31st October, 2015.

	 (1)	 Chomu	 (2)	 Bhambori

	 (3)	 Phagi	 (4)	 Kotputali
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	129.	 tuleL;kvksa ds fujkdj.k ds fy;s fuEukafdr esa ls fdl 
vfèkfu;e dks ykxw djus esa jktLFkku igyk jkT; gS\

	 (1)	 yksd izki.k esa ikjnf'kZrk vfèkfu;e
	 (2)	 yksd lsok iznku xkjaVh vfèkfu;e
	 (3)	 lq'kklu vfèkfu;e
	 (4)	 lquokbZ dk vfèkdkj vfèkfu;e

	130.	 ukWosZ ljdkj ds lg;ksx ls jktLFkku ljdkj us thouèkkjk 
cSad fuEu dh miyCèkrk ds fy;s LFkkfir fd;k&

	 (1)	 dSalj ejhtksa dks jDr gsrq
	 (2)	 e#{ks=kksa esa ikuh gsrq
	 (3)	 cqtqxks± dks chek gsrq
	 (4)	 f'k'kqvksa ds fy;s ek¡ ds nwèk gsrq

	131.	 fj;ks isjkfyafid [ksy] 2016 dk vkfèkdkfjd ^eksVks* 
D;k gS\

	 (1)	 ,d u;k fo'o
	 (2)	 vkvks vkSj [ksyks
	 (3)	 [ksyksa esa lekurk
	 (4)	 vkvks lkFk pys

	132.	 jktLFkku i;ZVu ds ‘yksxksa’ esa lfEefyr okD; gS%
	 (1)	 jaxhyks jktLFkku
	 (2)	 tkus D;k fn[k tk,
	 (3)	 jktLFkku jks fny ns[kks
	 (4)	 n'kZuh; jktLFkku

	133.	 2016 fj;ks iSjkfyafid [ksyksa esa dqy fdrus [ksyksa dh 
izfrLièkkZ vk;ksftr dh tk,¡xh\

	 (1)	 20	 (2)	 42
	 (3)	 23	 (4)	 27

	134.	 izèkkuea=kh mTToyk ;kstuk ds ckjs eas fuEu dFkuksa ij 
fopkj dhft;s %

	 A.	 ;kstuk esa fuèkZurk js[kk ls uhps thou;kiu djus 
okys (chih,y) ifjokjksa dh efgykvksa dks 
fu%'kqYd ,yihth xSl dusD'ku iznku djrh gSA

	 B.	 ;kstuk ds vUrxZr ` 8000 djksM+ dk izkoèkku 
j[kk x;k gSA

	 C.	 ;kstuk ds vUrxZr izR;sd ,yihth xSl dusD'ku 
ij chih,y ifjokj dks ` 2]800 dh foÙkh; 
lgk;rk iznku dh tkrh gSA

	 D.	 ;kstuk ns'k Hkj esa 5 djksM+ chih,y ifjokjksa dks 
ykHk igq¡pk,xhA

	 	mi;qZDr esa ls dkSu ls dFku lR; gSa\
	 (1)	 dsoy A vkSj B
	 (2)	 dsoy B vkSj C
	 (3)	 dsoy A, C vkSj D
	 (4)	 dsoy A, B vkSj D

	129.	 Rajasthan is the first state to implement which one 
of the following Act to redress public grievances?

	 (1)	 Transparency in Public Procurement - Act
	 (2)	 Guaranteed Delivery of Public Services Act
	 (3)	 Good Governance Act
	 (4)	 Right to Hearing Act 130.
	130.	 Government of Rajasthan has set-up Jeevan Dhara 

Bank in collaboration with Norwegian Government 
to provide

	 (1)	 Blood for Cancer patients
	 (2)	 Water for Desert areas
	 (3)	 Insurance to Old persons
	 (4)	 Mother's Milk to Infants
	131.	 What is the official "motto' of Rio 2016 Paralympic 

Games?
	 (1)	 A new world
	 (2)	 Come and play
	 (3)	 Equality to play
	 (4)	 Come walk together
	132.	 The sentence incorporated in the 'Logo' of 

Rajasthan tourism is
	 (1)	 Rangilo Rajasthan
	 (2)	 Jane Kya Dikh Jaye
	 (3)	 Rajasthan Ro Dil Dekho
	 (4)	 Darshniya Rajasthan
	133.	 How many sports will be played during Rio 

Paralympic Games, 2016?
	 (1)	 20	 (2)	 42
	 (3)	 23	 (4)	 27
	134.	 Consider the following statements about the 

Pradhan Mantri Ujjwala Yojana?
	 A.	 The scheme provides free LPG connection 

to the women belonging to the Below 
Poverty Line (BPL) households.

	 B.	 ₹8,000 crore has been earmarked under the 
scheme.

	 C.	 The scheme provides a financial support of 
₹2,800 for each LPG connection to the BPL 
households.

	 D.	 The scheme will benefit 5 crore BPL families 
across the nation. Which of the above 
statements are correct?

	 (1)	 Only A and B
	 (2)	 Only B and C
	 (3)	 Only A, C and D
	 (4)	 Only A, B and D
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	135.	 jktLFkku jkT; esa igyk nzks.kkpk;Z iqjLdkj fdls izkIr 
gqvk\

	 (1)	 dj.k flag	 (2)	 fjiqneu flag
	 (3)	 xksiky lSuh	 (4)	 ijethr flag

	136.	 izfrf"Br Vscy Vsful pSfEi;uf'ki ,f'k;u di 2015 
dk vk;kstu fd;k x;k Fkk\

	 (1)	 lokbZ ekuflag buMksj LVsfM;e] t;iqj
	 (2)	 us'kuy LiksV~lZ Dyc vkWiQ bafM;k] eqEcbZ

	 (3)	 tokgjyky usg: LVsfM;e] ubZ fnYyh
	 (4)	 usrkth lqHkk"k buMksj LVsfM;e] dksydkrk

	137.	 jktLFkku vksyafid ,lksfl,'ku ds uofuokZfpr ps;jeSu 
gSa%

	 (1)	 f'kopj.k ekyh
	 (2)	 èkujkt pkSèkjh
	 (3)	 xksiky lSuh
	 (4)	 jkevorkj tk[kM+

	138.	 fj;ks vksyfEid [ksy] 2016 esa fdruh LièkkZ,¡ gqb±\

	 (1)	 396	 (2)	 326
	 (3)	 306	 (4)	 296

	139.	 i`Foh dk iwjk pDdj yxkus okys izFke lkSj&mQtkZ pkfyr 
ok;q;ku dk D;k uke gS\

	 (1)	 lksyj baiYl&1	 (2)	 lksyj baiYl&3
	 (3)	 lksyj baiYl&2	 (4)	 lksyj baiYl&4

	140.	 35osa jk"Vªh; [ksy] 2015 esa jktLFkku us thrs %
	 (1)	 10 ind
	 (2)	 dsoy ,d Lo.kZ ind

	 (3)	 rhu jtr ind
	 (4)	 18 ind

	141.	 fuEu esa ls fdu xzUFkksa esa izkphu Hkkjr ds lksyg 
egk&tuinksa ("kksM+'k egk&tuin) dh lwph feyrh gS\ 
uhps fn;s x;s dwV ls lgh mÙkj dk p;u dhft;s %

	 (i)	 vFkZ'kkL=k	 (ii)	 vaxqÙkj fudk;

	 (iii)	 nh?k fudk;	 (iv)	 Hkxorh lw=k

	 	dwV%
	 (1)	 (i) vkSj (ii)	 (2)	 (ii) vkSj (iv)
	 (3)	 (i), (ii) vkSj (iii)	 (4)	 (i), (iii) vkSj (iv)

	142.	 lR;dke tkcky dh dFkk] tks vuC;kgh ek¡ gksus ds 
ykaNu dks pqukSrh nsrh gS] mYysf[kr gS

	 (1)	 NkUnksX; mifu"kn~
	 (2)	 tkcky mifu"kn~
	 (3)	 dBksifu"kn~

	 (4)	 iz'uksifu"kn~

	135.	 Who is the first Dronacharya awardee of Rajasthan 
State?

	 (1)	 Karan Singh	 (2)	 Ripudaman Singh
	 (3)	 Gopal Saini	 (4)	 Paramjeet Singh
	136.	 Prestigious Asian cup 2015 Table Tennis 

championships was hosted at
	 (1)	 Sawai Mansingh Indoor Stadium, Jaipur
	 (2)	 National Sports Club of India, Mumbai
	 (3)	 Jawaharlal Nehru Stadium, New Delhi
	 (4)	 Netaji Subhash Indoor Stadium, Kolkata
	137.	 Newly elected Chairman of Rajasthan Olympic 

Association is
	 (1)	 Shivcharan Mali
	 (2)	 Dhanraj Choudhary
	 (3)	 Gopal Saini
	 (4)	 Ramavtar Jakhar
	138.	 How many events took place in Rio Olympic 

Games, 2016?
	 (1)	 396	 (2)	 326
	 (3)	 306	 (4)	 296
	139.	 Which is the first solar powered aircraft to 

circumnavigate the earth?
	 (1)	 Solar Impulse-1	 (2)	 Solar Impulse-3
	 (3)	 Solar Impulse-2	 (4)	 Solar Impulse-4
	140.	 In 35th National Games, 2015 Rajasthan won
	 (1)	 10 Medals
	 (2)	 1 Gold Medal only
	 (3)	 3 Silver Medals
	 (4)	 18 Medals
	141.	 In which of the following texts the list of the sixteen 

great states (Sodasa Mahajanapadas) of ancient 
India occur? Select the correct answer from the 
code given below :

	 (i)	 Arthashastra	 (ii)	 Anguttara Nikaya
	 (iii)	 Digha Nikaya	 (iv)	 Bhagavati Sutra
		  Codes:
	 (1)	 (i) and (ii)	 (2)	 (ii) and (iv)
	 (3)	 (i), (ii) and (iii)	 (4)	 (ii), (iii) and (iv)
	142.	 The legend of Satyakam Jabal, which challenges 

the stigma of being an unmarried mother, is 
mentioned in

	 (1)	 Chhandogya Upanishad
	 (2)	 Jabal Upanishad
	 (3)	 Kathopnishad
	 (4)	 Prashnopnishad
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143.		 laLd`r dh fuEufyf[kr esa ls dkSu lh jpukvksa us 
egkHkkjr ls viuk dFkklw=k fy;k gS\ uhps fn;s x;s dwV 
ls lgh mÙkj dk p;u dhft;s %

	 (i)	 uS"kèkh;pfjr	 (ii)	 fdjkrktqZuh;e~

	 (iii)	 f'k'kqikyoèk	 (iv)	 n'kdqekjpfjr

	 	dwV%

	 (1)	 (i) vkSj (iii)	 (2)	 (ii) vkSj (iii)
	 (3)	 (i), (ii) vkSj (iii)	 (4)	 (ii), (iii) vkSj (iv)

	144.	 fuEufyf[kr lw;Z eafnjksa esa dkSu&lk ikVu] xqtjkr esa 
fLFkr gS\

	 (1)	 dks.kkoZQ	 (2)	 eks<sjk
	 (3)	 ekrZ.M	 (4)	 nf{k.kkoZQ

	145.	 fuEufyf[kr esa ls dkSu&lk ;qXe lqesfyr ugha gS\

	 (1)	 jft;k lqYrku	 &	 fnYyh

	 (2)	 cgknqj 'kkg	 &	 xqtjkr

	 (3)	 ckt cgknqj	 &	 ekyok

	 (4)	 pk¡n chch	 &	 voèk

	146.	 uoha 'krkCnh bZ- esa fuEufyf[kr esa ls fdlds }kjk pksy 
lkezkT; dh uhao Mkyh x;h\

	 (1)	 fot;ky;	 (2)	 d`".k I
	 (3)	 ijkard	 (4)	 jktjkt pksy

	147.	 16oha 'krkCnh esa laiUu egkHkkjr dk iQkjlh vuqokn 
dgykrk gS

	 (1)	 ge”kkukek	 (2)	 vkyexhjukek

	 (3)	 ckn'kkgukek	 (4)	 jTeukek

	148.	 fuEu esa ls dkSu fp'rh flyflys ls lac¼ ugha gS\

	 (1)	 'ks[k eqbuqíhu
	 (2)	 [ok”kk dqrqcqíhu cf[r;kj dkdh

	 (3)	 'ks[k fu”kkeqíhu vkSfy;k

	 (4)	 'ks[k vCnqy f”kykuh

	149.	 fuEufyf[kr esa ls dkSu lk ,d ;qXe lqesfyr ugha gS\

	 (1)	 fjax iQsal dh uhfr	 &	 okjsu gSfLaVXt

	 (2)	 Bxh dk neu	 &	 fofy;e cSafVad

	 (3)	 oukZD;wyj izsl ,DV	 &	 d”kZu

	 (4)	 bYcVZ fcy	 &	 fjiu

	150.	 fuEu oDrO;ksa ij fopkj dhft;s %

	 	dFku (A) % 19oha lnh ds lkekftd èkkfeZd vkUnksyuksa 
ds dkj.k Hkkjr dk vkèkqfudhdj.k gqvkA

	 	dkj.k (R) % lkekftd] èkkfeZd vkUnksyuksa ds ewy esa 
cqf¼okn] oSKkfud n`f"Vdks.k rFkk vU; ,sls fopkj Fks 
tks vkèkqfudrk ds vkèkkj ekus tkrs gSaA

	143.	 Which of the following Sanskrit works has taken 
up their theme from the Mahabharata? Select the 
correct answer from the code given below:

	 (i)	 Naishdhiyacharita	 (ii)	 Kiratarjuniyam
	 (iii)	 Sisupalavadha	 (iv)	 Dasakumaracharita
		  Codes :
	 (1)	 (i) and (iii)	 (2)	 (ii) and (iii)
	 (3)	 (i), (ii) and (iii)	 (4)	 (ii), (iii) and (iv)
	144.	 Which one of the following Sun Temples is located 

in Patan, Gujarat?
	 (1)	 Konark	 (2)	 Modhera
	 (3)	 Martand	 (4)	 Dakshinark
	145.	 Which one of the following pairs is not correctly 

matched?
	 (1)	 Raziya Sultan	 -	 Delhi
	 (2)	 Bahadur Shah	 -	 Gujarat
	 (3)	 Baz Bahadur	 -	 Malwa
	 (4)	 Chand Bibi	 -	 Awadh
	146.	 Who among the following laid the foundation of 

the Chola Empire in the IXth century A.D.?
	 (1)	 Vijayalaya	 (2)	 Krishna I
	 (3)	 Parantak	 (4)	 Rajraja Chola
	147.	 The Persian translation of Mahabharata, which was 

done in 16th century is called
	 (1)	 Hamzanama	 (2)	 Alamgirnama
	 (3)	 Badshahnama	 (4)	 Razmanama
	148.	 Who among the following does not belong to the 

Chishti order?
	 (1)	 Sheikh Moinuddin
	 (2)	 Khwaja Qutubuddin Bakhtiar Kaki
	 (3)	 Sheikh Nizamuddin Aulia
	 (4)	 Sheikh Abdul Jilani
	149.	 Which one of the following pairs is not correctly 

matched?
	 (1)	 Ring Fence Policy	 -	Warren Hastings
	 (2)	 Suppression of Thuggee	-	William Bentinck
	 (3)	Vermacular Press Act	 -	 Curzon
	 (4)	 Illbert Bill	 -	 Ripon
	150.	 Consider the following statements :
		  Assertion (A) : Socio-religious movements of the 

19th century resulted in the modernization of India.
		  Reason (R) : Rationalism, scientific temper and 

other such ideas which are the basis of modernization 
were at the core of the socio-religious movements.
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	 	fuEu dwV esa ls lgh mÙkj dk p;u dhft;s %

	 	dwV%

	 (1)	 (A) lgh gS] fdarq (R) xyr gSA
	 (2)	 (R) lgh gS] fdarq (A) xyr gSA
	 (3)	 (A) o (R) nksuksa lgh gSa] fdarq (A) dh lgh O;k[;k 

(R) ugha djrkA

	 (4)	 (A) o (R) nksuksa lgh gSa vkSj (A) dh lgh O;k[;k 
(R) gSA

	 	 Select the correct answer from the code given 
below:

	 	 Codes :
	 (1)	 (A) is true but (R) is false.

	 (2)	 (R) is true but (A) is false.

	 (3)	 Both (A) and (R) are true but (R) is not the 
correct explanation of (A).

	 (4)	 Both (A) and (R) are true and (R) is the 
correct explanation of (A).


